Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/02
L7.2 (without object) Mean: -1.35 L7.2 (without object) Mean: -5.64
CH 3 Acceptable range: 2.5 CH 4 ‘Acceptable ranger 2.5 |
s e e e e o R S Failure points: 0% | +ok - Failure points: 0%
+2r
Mean——— Mean
2+
2+
. : . Time-> e A R e
16:22:36.95 16:23:24.40 16:24:11.85 16:24:59.30 16:22:36.95 16:23:24.40 16:24:11.85 16:24:59.30
L8.2 (with object) _— g‘llean: 161.29g L8.2 (with object) — b:\nean: 79'26;
cceptable range: 2. CH4_ _ _ _ _ _ _ ___ Acceptablerange: 25|
£ = Failare pointsT 0% | = Failure points: 0%
+2t +2t=
Mean - =" PR B Meanp——=—=~ = w e
-2k ok
L L L Time-> i 1 1 Time->
16:26:24.84 16:27:10.76 16:27:56.69 16:28:42.61 16:26:24.84 16:27:10.76 16:27:56.69 16:28:42.61
19.2 (withoutobject) —Mean: -2.22 L9.2 (without object Mean: -6.51
CH'ZES( B Acceptable range: 2.5 CH 4{ it j_ )_ _____ Acceptable range: 2.5 |
42 Failure points: 0% = Failure points: 0%
+2+
Mean e el s = AL T =R A, Mean-—-—-----——---—------.-.... W O —
2+
2+
T T T | ! ' Time->
16:29:53.64 16:30:08.61 16:30:23.59 16:30:38.56 16:30| 16:29:53.64 16:30:08.61 16:30:23.59 16:30:38.56
Database: ..\..\_QC_Reports\6_02_08\6_02_08_TA.gdb
Line Name: L7.21.8.2 9.2 Page: 2




Static Calibration Test

Project: Fort Ord

Equi

AM test
Operator: BG & TA
Date: 2008/06/03

QOutside range
Acceptable limits

pment: EM-61 Mark I
Grid/Location: QC Area
LO (without object) i Mean: -50.54
- Failure points: 0.101%

LO (without object) Mean: -5.71
CH 2 Acceptable range: 2.5
e e e e e e Failire-peintst 0. 0505%.]

' ' \ Time->

08:03:27.98 08:04:17.43 08:05:06.88 08:05:56.33 08:03:27.98 08:04:17.43 08:05:06.88 08:05:56.33
L1 (with object) Mean: 325.86 L1 (with object) Mean: 269.97
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5

— — — — Failurepoints:0.222%

Failure points: 0.834%

]H l] I m
f f I Time-> Time->
08:08:01.79 08:08:46.74 08:09:31.69 08:10:16.64 08:11] 08:08:01.79 08:08:46.74 08:09:31.69 08:10:16.64
L2 (without object) Mean: -51.25 L2 (without object) Mean: -6.53
SR, [Pl et sl e Nt e Acceptable range:2:51 eH2— —— . Acceptable range: 2.5 |
- Failure points: 0% = Failure points: 0%
+2 = +2 -
l]lh. MURMALL AV QU L AL [ |l|”“||“lll|ilh IIIJI”:“I“I..I UL LN AR AN
Mean|:==: Ty | - r ' | ll Y 1 ' ll' ‘|-t|||||”||'r~ Mean V 1 T
2 2F
A f " Time-> ! ' \ Time->
08:11:43.69 08:11:59.38 08:12:15.08 08:12:30.78 08:12] 08:11:43.69 08:11:59.38 08:12:15.08 08:12:30.78

Database: .\..\_QC_Reports\6_03_08\6_03_08_TA.gdb

Line

Name: LOL1L

Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
LO (without object) Mean: -4.21 L0 (withoutobject) _Mean: -7.36 |
eHs————— Acc - CH 4 Acceptable range: 2.5
- Failure points: 0% 2= Failure points: 0%
+21+
Mean Mean
2+ ok
: i i Time-> B e
08:03:27.98 08:04:17.43 08:05:06.88 08:05:56.33 08:03:27.98 08:04:17.43 08:05:06.88 08:05:56.33
L1 (with object) Mean: 169.65 L1 (with object) ___Mean: 83.59 |
cH3———_____  Acceptablerange: 2.5 CH 4 Acceptable range: 2.5
= Failure points: 0% w2k Failure points: 0%
+21+
Mean - 1 Mean T r
_2 - -2 L
; ; ; Time-> T T T T T T T Time> |
08:08:01.79 08:08:46.74 08:09:31.69 08:10:16.64 08:11] 08:08:01.79 08:08:46.74 08:09:31.69 08:10:16.64
L2 (without object) Mean: -4.64 L2 (withoutobject) _  ~ ~ ~  _Mean: -7.55]
CH3_  _ _ _ ___ _ _ _ Acceptablerange: 2.5 CH 4 Acceptable range: 2.5
= Failure points: 0% e Failure points: 0%
+21+
Mean A T S = Mean.---.--v.-.-..--.-..--- — - -
2k
-2 =
’ ; ; Time-> T T T T Time=> |
08:11:43.69 08:11:59.38 08:12:15.08 08:12:30.78 08:12] 08:11:43.69 08:11:59.38 08:12:15.08 08:12:30.78

Database: ..\..\ QC_Reports\6_03_08\6_03_08_TA.gdb

Line

Name: LOL1 L

Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/10
L9 (without object Mean: -49.75 L9 {withoutobjeet) — — — — — — — — — Mean:—9.99.}
_CH(_T e —) —————— Acceptabte range:2:5 CH_H; Acceptable range: 2.5
2 - Failure points: 0% +2+= Failure points: 0%
+ —
Mean 5 T e ——— M e aN i £ Kk N
] ok
T T T T T | e —— e
16:30:06.70 16:30:52.64 16:31:38.59 16:32:24.54 16:30:06.70 16:30:52.64 16:31:38.59 16:32:24.54
L10 (with object) Mean: 283.24 L10 (with object) Mean: 233.81
CcH1_ . Acceptablerange: 2.5 L e ——— Acceptable range: 2.5 ]
= Failure points: 0% | = Failure points: 0%
+2F +2
Mean ¥ - IF - o B i Mean| - - T Im B 1
-2F e
L L L Time-> i 1 1 Time->
16:36:22.40 16:37:10.10 16:37:57.80 16:38:45.50 16:36:22.40 16:37:10.10 16:37:57.80 16:38:45.50
L11 (withoutobject) Mean: -48.73 | 1 t{withoutobjecty — —— ——— — —Mean:~9.51
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
42 Failure points: 0% +2+= - Failure points: 0%
Mean--.--—..-..----..- P e e mmie e——— W J—— - A — - — Mean.  m - - - - - - e -
-2F 18
T T T L ———— e ——— o —— — ]
16:40:02.19 16:40:22.67 16:40:43.15 16:41:03.62 16:40:02.19 16:40:22.67 16:40:43.15 16:41:03.62

Database: ..\ _Qg_lﬁ:ports\6_03_08\6_03_08_TA.gdb

2\
Line Name: L9 L1

Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
T9({withoutobject)y — — — — — — — —Mean:=6.29] L9 {without object) — — — — — — ~Mean:-8.39
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ = Failure points: 0% 2 - Failure points: 0%
Mean| 7 = 2 Mean a
24 oL
e el — — — — _l_.__Tm _____',_____|_____'___T_i.me—_L
16:30:06.70 16:30:52.64 16:31:38.59 16:32:24.54 16:30:06.70 16:30:52.64 16:31:38.59 16:32:24.54
L10 (with object Mean: 147.03 +10{withobjeet}——— — — — — — — -~ Mean: 71.61 |
EH_% dthoblect _ Acceptable range: 25 | CH 4 ject)— Acceptable range: 2.5
ok Failure points: 0% +2+= Failure points: 0%
Mean| = - I "L i Mean B I r 2
-2t ok
G TG S S ] ———————— — — o — —Time=|
16:36:22.40 16:37:10.10 16:37:57.80 16:38:45.50 16:36:22.40 16:37:10.10 16:37:57.80 16:38:45.50
Ti1(withoutobjecty —— — — — — — —Mean=6.13 T1T({withoutobjecty — — — — — — ~Mean:-8.4T]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 Failure points: 0% +2F7 = Failure points: 0%
Mean|- ‘2 i e 7 === "= Mean — ot I
2} ok
e e e e e e e e e e e e e e e e | HERA G —_—————— g —— — — — — —Tlime->
16:40:02.19 16:40:22.67 16:40:43.15 16:41:03.62 16:40:02.19 16:40:22.67 16:40:43.15 16:41:03.62

Database: ..\ _Qg_lﬁ:ports\6_03_08\6_03_08_TA.gdb

Line

2\
Name: L9 L1

Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
101 (without object) = _Mean: -63.29 | LO.1 (without object Mean: 4.9
CHJ_‘I( tobjact)- Acceptable range: 2.5 _6"“'“2( vithout object) Acceptable range: 25 |
+2 — Failure points: 0.152% +2F - Failure points: 0%
Mean piaNg & ] "I Mean
2k
2+
: ! : : Time-> e e . O
08:03:28.05 08:04:17.48 08:05:06.90 08:05:56.33 08:03:28.05 08:04:17.48 08:05:06.90 08:05:56.33
L1.1 (with object) Mean: 376.78 L1.1 (with object) Mean: 320.65
CH 1 Acceptable range: 2.5 CH_2 Acceptable range: 2.5
———————————— Faiture-points:0.667 % T T T T~~~ — —Fallurepointsr0.278%|
+2¢ +2+
Mean ™ 3 B - Mean - - - -
-2F ok
! L L . L Time-> ' i 1 1 . Time->
08:08:01.85 08:08:46.77 08:09:31.70 08:10:16.62 08:08:01.85 08:08:46.77 08:09:31.70 08:10:16.62
-L2.14 (withoutobject) — — -Mean: -62.04 L2.1 (without object Mean: 4.93
CHAT'( B Acceptable range: 2.5 ?H_Z{ sithoutobject) ‘Acceptable range: 2.5 |
42+ Failure points: 0% 2k Failure points: 0%
Mean vt i i e e B e - b e Mean-..--- - A AT RTR SRS A2 AN B AR ALATABAE L TTARTRERE MR EAAl RRLAIR A kR R AR Re M AR SR IR
_2 _ '2 -
T T T T T T T T T T T T Time s | o,y Time->|
08:11:43.65 08:11:59.35 08:12:15.05 08:12:30.75 08:11:43.65 08:11:59.35 08:12:15.05 08:12:30.75
Database: ..\..\_QC_Reports\6_03_08\6_03_08_TA.gdb
Line Name: LO.1 L1.1 L2.1 Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
ToT(withoutobjecty — — — — — — — Mean 971 L0.1T (without object) ~— Mean: 3.97 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2r - Failure points: 0% +2r7 = Failure points: 0%
Mean| -~ =~ = I Mean
2F -2r
e s ae e e il el sl i e e o i R —— E—— SRR e
08:03:28.05 08:04:17.48 08:05:06.90 08:05:56.33 08:03:28.05 08:04:17.48 08:05:06.90 08:05:56.33
L1.1 (with object Mean: 202.96 114 (withobject} — Mean: 104.38 |
TH_.‘)S e o )— —————— Acceptabte range:2:5 CHJI: B Acceptable range: 2.5
5 = Failure points: 0% +2+ Failure points: 0%
Mean ¥ 1 I ¥ Mean - Y 7 T
2 ok
T T T T T T e e e
08:08:01.85 08:08:46.77 08:09:31.70 08:10:16.62 08:08:01.85 08:08:46.77 08:09:31.70 08:10:16.62
L2 (withoufobject) — — — — — MeanT9.05] 27 (withoufobjecty — Mean: 3.87 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
2+ — Failure points: 0% 27 - Failure points: 0%
Mean T - — i e i T gl e r— Mean Sl d LRI b -
2 2
— e T e e e
08:11:43.65 08:11:59.35 08:12:15.05 08:12:30.75 08:11:43.65 08:11:59.35 08:12:15.05 08:12:30.75
Database: ..\..\_QC_Reports\6_03_08\6_03_08_TA.gdb
Line Name: LO.1 L1.1 L2.1 Page: 2




Static Calibration Test

Project: Fort Ord

PM test

Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
L9 4+{without object} — — — — — — — ‘Mean: -45.03. +9:4-(withoutobjecty — — — — — — — —Mean:6:23
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
+2 — Failure points: 0% +2+ Failure points: 0%
Meanp =~ Mean|=+ -
-2F Dt
il i i i - i e ———————— | ———— (——————— l—— .. 2
16:30:06.67 16:30:52.62 16:31:38.57 16:32:24.52 16:30:06.67 16:30:52.62 16:31:38.57 16:32:24.52
L10.1 (with object) Mealg17.01 L10.1 (with object) Mean: 345.2
CH 1 Acceptable r 125 CH 2 Acceptable rgage: 2.5
k5 =S SIS S R S VR — — —Failur =L I ES e e Failure pointS@®.314% |
+2f +2r
Mean B =t = = Mean B i 1 B
2= -2+
t I . L Time-> 1 1 Time->
16:36:22.37 16:37:10.06 16:37:57.76 16:38:45.46 16:36:22.37 16:37:10.06 16:37:57.76 16:38:45.46
L1111 {(without objeet} — — — — — — —— -Mean:-45.47 | ‘111 (withoutobjecty ————— —— —Mean:6.26
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
+2+ = Failure points: 0% +2+= - Failure points: 0%
Meani el r i v =5 =W T H Mean\'---' ARUE et SUTATL R (ko
2 2+
- e e e e T e s S e | i S T i L il
16:40:02.26 16:40:22.71 16:40:43.16 16:41:03.61 16:40:02.26 16:40:22.71 16:40:43.16 16:41:03.61

Database: ..\..\ QC_Reports\6_03_08\6_03_08_TA.gdb

Line

Name: L9.1 L10.1 L11.1

Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
L9 1 (withoutobjecty — — — — — — ~ Mean:8.49] L9 (withoutobject) — — ~ Mean:3.73
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F = Failure points: 0% 207 - Failure points: 0%
Mean - Mean
2 2k
—_—— e — —Timieaa T . S . SOV VO 1 11 -1~
16:30:06.67 16:30:52.62 16:31:38.57 16:32:24.52 16:30:06.67 16:30:52.62 16:31:38.57 16:32:24.52
L10.1 (with object Mean: 221.37 L1014 (withobject} — — Mean: 115.09
TH3 (— — —'l —} —————— Acceptable range:2-5- CH 4 fwi et} Acceptable range: 2.5
5 = Failure points: 0% 2+ Failure points: 0%
+ —
Mean B T B Mean v H -
s 2k
L L L Time-> T T T T L
16:36:22.37 16:37:10.06 16:37:57.76 16:38:45.46 16:36:22.37 16:37:10.06 16:37:57.76 16:38:45.46
T11.1 (withoat objecty — — — — — — — ~— Mean: 8.58 T11.7 {without object) — — — — Mean: 3.7
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F7 = Failure points: 0% 27 - Failure points: 0%
Meaniii=iv=== - 0 egom =] Mean|: i y il s
2 2+
e — e i s i R B A R SO 1 -
16:40:02.26 16:40:22.71 16:40:43.16 16:41:03.61 16:40:02.26 16:40:22.71 16:40:43.16 16:41:03.61

Database: ..\..\_QC_Reports\6_03_08\6_03_08_TA.gdb
Line Name: L9.1 L10.1 L11.1

Page: 2




Static Calibration Test

Project: Fort Ord

AM test

Equipment: EM-61 Mark Il . Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
L0.2 (without object) Mean: -140.95 L0.2 (without object) Mean: -12.12
CH 1 Acceptable range: 2.5 eH2— —  —  ___ Acceptablerange: 25|
~0.-152% = Failure points: 0%
+2F

2

Mean

g u.ﬁ

\ f | Time->

Mean

08:03:

28.02 08:04:17.47 08:05:06.92 08:05:56.37

08:03:

28.02 08:04:17.47 08:05:06.92 08:05:56.37

L1.2 (ith object) Mean: 342.69
ble range: 2.5

points: 0.667%

Accd
__Fail

Mean: 337.42

ith object
ject) Ac_oeptabl_e range: 2.5

f f I Time->
08:08:01.83 08:08:46.75 08:09:31.67 08:10:16.59 08:11) 08:08:01.83 08:08:46.75 08:09:31.67 08:10:16.59
L2.2 (without object) Mean: -136.29 L2 _(\mthout object) Mean: -11.47
o - I R Acceptable range:-2.5 CH _____ ‘Acceptable rant
- Failure points: 0% Failure polnts 0%
+2F +21
Meal’l |I"l' - I'.lr Tr e Ih'”| 'lrrl"‘rll Mean lllilnillll_ﬂ lln_[]l.r‘ill“n‘.lh LWL "riu i l_‘l‘il‘lll
-2F 2k
. . : Time-> R R e ol e
08:11:43.62 08:11:59.34 08:12:15.07 08:12:30.79 08:12) 08:11:43.62 08:11:59.34 08:12:15.07 08:12:30.79
Database: ..\..\_QC_Reports\6_03_08\6_03_08_TA.gdb
Line Name: L0.2 L1.2 L2.2 Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
L0.2(withoutobject)— — — — — — — — —Mean: 0.97 | 0.2 (without objecty— — — — — — — — —Mean 386 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2+= = Failure points: 0%
Mean : i T Mean
-2r oL
|y ey Time> T —— — —— ——Time->
08:03:28.02 08:04:17.47 08:05:06.92 08:05:56.37 08:03:28.02 08:04:17.47 08:05:06.92 08:05:56.37
L1.2 (with object Mean: 220.36 11.2 (withobjeety = Mean: 109,98 |
-GH—S( e j_ )_ ______ Acceptable range: 2.5 CH i B Acceptable range: 2.5
= Failure points: 0% ' Failure points: 0%
+2r
Mean i = u =1 - o » Mean B a - B = e r
2 s
. . . Time-> T T
08:08:01.83 08:08:46.75 08:09:31.67 08:10:16.59 08:11) 08:08:01.83 08:08:46.75 08:09:31.67 08:10:16.59
L2.2 (withoutobject) —_Mean: 0.93 | t2:2(withoutobjecty — — — — — — — P
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
42 Failure points: 0% +2¢ = Failure points: 0%
Mean e o oo et 30 e et Mean. il L St B L R T 0, i B A B e e T
-2F ial
T T T L —_———— — — — — — — —— 4 — —— —[{Ae->]
08:11:43.62 08:11:59.34 08:12:15.07 08:12:30.79 08:12) 08:11:43.62 08:11:59.34 08:12:15.07 08:12:30.79

Database: ..\..\_QC_|

A\ rts\6_03_08\6_03 08 _TA.gdb
Line Name: L0.2 L1.

epo
L2.2 Page: 2
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Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/03
L9.2 (without object) Mean: -105.86 | +9:2«(withoutobject)——— —— ——— —Mean:—=6-75
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
w2 Failure points: 0% +2+ Failure points: 0%
Mean B Al = = = Mean| - - ¥
2 2+
e s i e < (I e eV
16:30:06.74 16:30:52.66 16:31:38.58 16:32:24.51 16:30:06.74 16:30:52.66 16:31:38.58 16:32:24.51
L10.2 (wi bject) Mean: 393.97 L10.2 (wi bject) . Mean: 357.28
CH 1 Acceptable rang 5 CH 2 Acceptable rangeg2 .5
o Failure points: 1 38056 — == _ = — Eailure points: 0
R SRS il SEL T o= +2+
+2F
Mean - . 1 Mean - - L
D= sk
L L L Time-> i 1 1 Time->
16:36:22.44 16:37:10.11 16:37:57.79 16:38:45.46 16:36:22.44 16:37:10.11 16:37:57.79 16:38:45.46
L11.2 (without object Mean: -106.7 +t11:2 {(withoutobjecty ————— — — —Mean:=6:8
EH._1 (without object) ______ Acceptable range: 2.5 CH 2 (wi ) Acceptable range: 2.5
+2F = Failure points: 0% +2+= - Failure points: 0%
Mean|~- T Y OmEENTd AFL UYL LR w= = m—- Mean| - 2 ik i r R
2k ok
e 3 B e T L
16:40:02.23 16:40:22.68 16:40:43.13 16:41:03.58 16:40:02.23 16:40:22.68 16:40:43.13 16:41:03.58
Database: ..\

2\
Line Name: L9.

QC_Reports\6_03_0816_03_08_TA.gdb

.2 L10. 1.2

Page: 1




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

PM test
Operator: BG & TA
Date: 2008/06/03

. Outside range
Acceptable limits

19.2 (without object) —Mean: 0.75 | 9.2 (without objecty ~—Mean: -4.46 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 = Failure points: 0% 2 - Failure points: 0%
Mean N ; b dhide i Mean
2k 15
____I_____I_____l___m _____l_____l____‘l___-ll‘m:"e_‘L
16:30:06.74 16:30:52.66 16:31:38.58 16:32:24.51 16:30:06.74 16:30:52.66 16:31:38.58 16:32:24.51
L10.2 (with object Mean: 229.74 L10.2 (withobject) Mean: 114.16 |
CH 3 (_ — _'l _} ______ Acceptable range:-2-5 CH 4 (Wi ct) Acceptable range: 2.5
= Failure points: 0% 2 Failure points: 0%
+21
Mean B - = | Mean B - -
2+ ok
i i I Time-> Ty T Ty T T T T T T Time=>
16:36:22.44 16:37:10.11 16:37:57.79 16:38:45.46 16:36:22.44 16:37:10.11 16:37:57.79 16:38:45.46
T11.2 (withoatobjecty — — — — — — Mean 0.8T] T11.2 (withoutobjecty — — — — — — ~Mean:-4.43]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F7 = Failure points: 0% +2r7 = Failure points: 0%
Meant - 2 TR R i oy EN T - 4 Mean ey g R e S T e DR 1
2 24
P ———————_: ") e et o e e e e e e R
16:40:02.23 16:40:22.68 16:40:43.13 16:41:03.58 16:40:02.23 16:40:22.68 16:40:43.13 16:41:03.58
Database: ..\

QC_Reports\6_03_0816_03_08_TA.gdb

2\
Line Name: L9.2 L10. 1.2

Page: 2




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

AM test
Operator: BG & TA
ate: 2008/06/04

L0 (withoutobject) _Mean: -44.88 | +0-(withoutobject) —— —— —— — — —Mean:~2: 15
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2 Failure points: 0% +2 Failure points: 0%
Meanfs=im===" = = it T Meant: ==—"—= e sl
2= -2
B e e sy e L T 11
08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72 08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72
L1 (with object) Mean: 246.13 L1 (with object) Mean: 211.15
cH4— — ———_____ Acceptable range: 2.5 | T T o e s e s s Yt s s Acceptable range: 2.5
= Failure points: 0% = Failure points: 0%
+2 +2 -
Mean i T H T Lo I B 1 Mean X r I B L ¥ T
-2r oL
L L L Time-> i 1 1 Time->
08:19:41.68 08:20:22.63 08:21:03.58 08:21:44.53 08:22) 08:19:41.68 08:20:22.63 08:21:03.58 08:21:44.53
L2 (without object) Mean: 289.61 L2 (without object) Mean: 243.32
CH 1__________A_ccgp_tamrange:2£ -+t Acceptable range; 2.5
= Faijlure points: 0% - Failure points: 0%
+2F +2r
Mean [T R .- m Mean - N AR T =
2k -2r-
L L L Time-> i 1 1 Time->
08:24:54 .48 08:25:36.91 08:26:19.33 08:27:01.76 08:27) 08:24:54.48 08:25:36.91 08:26:19.33 08:27:01.76

Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb

Line Name: LO L1 L2

Page: 1




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

AM test
Operator: BG & TA
ate: 2008/06/04

Lo {withoutobject) — — — — — — ~Mean:-3.07 Lo {withoutobject) — — — ~Mean:-7.35]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2rF7 - Failure points: 0% +2r7 - Failure points: 0%
Mean p iy Mean
2 2k
e e Timess T——— S——— AR f— —— —lime=> |
08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72 08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72
L1(withobject) __~~ ~ ~_ __ Mean: 131,59 L1 (withobject)y —— “Mean: 63.3H
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
I Failure points: 0% +2+= Failure points: 0%
Mean =1 ' ¥ BIE P ' m Mean 3 B B OR W &
2 ok
T T T T TS| ey e e
08:19:41.68 08:20:22.63 08:21:03.58 08:21:44.53 08:22) 08:19:41.68 08:20:22.63 08:21:03.58 08:21:44.53
L2 (without object Mean: 152.34 +2{withoutobject) — — — — — — — — —Mesn: 74-39
EH1_3 thoutobjeet) . ‘Acceptable range: 2.5 CHfz Acceptable range: 2.5
+2F = Failure points: 0% +2+= Failure points: 0%
Mean [ N1 T B Meanj LRy =
-2r o=
P 1 —————— — — — o — —Time=]
08:24:54 .48 08:25:36.91 08:26:19.33 08:27:01.76 08:27) 08:24:54.48 08:25:36.91 08:26:19.33 08:27:01.76
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb

2\
Line Name: LO

L1L

Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
L6 (withoutobject) ~~~ ~~~~ Mean:-45.73| +L6-(withoutobjeet) —— —F — — — — — —Mean:—8-12+
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
+2F - Failure points: 0% +2+ Failure points: 0%
Mean - = oam ‘- > e e s e — .t — - e—— - .. Mean e L - - - - —
-2r 2k
s MR A M | e e e e s e e e e e e e e e e Y
16:39:53.79 16:40:36.47 16:41:19.14 16:42:01.82 16:42] 16:39:53.79 16:40:36.47 16:41:19.14 16:42:01.82
L7 (wit ject) Mean: 297.14 L7 (with object) Mean: 244 .4
CH 1 Acceptable range: 2.5 ¢cHo2  ____ Acceptablerange: 2.5
Had LS, ARSI T T U SR Failure-points=—0 443%-| = Failure points: 0%
+21 t2r
Mean v OEE % =T B OIE 1 Mean| T B ¥ "Bl I 'R BikE
2 ok
L L L Time-> i 1 1 Time->
16:43:37.58 16:44:12.53 16:44:47.49 16:45:22.44 16:45] 16:43:37.58 16:44:12.53 16:44:47.49 16:45:22.44
L8 (withoutobject) _  ~ ~__Mean:-454| +8{(withoutobjeet) ———F — — — — — —Mean—7-96-
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
e Failure points: 0% +2+= Failure points: 0%
Mean e o i c— — — —— — L —— ] — 0 —— 5 — Mean-. e e e — e e — i m— s — e —— a4 .
-2r ok
T T T T T Time e e S —— v— ...
16:46:54.49 16:47:07.19 16:47:19.89 16:47:32.59 16:46:54.49 16:47:07.19 16:47:19.89 16:47:32.59
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: L6 L7 L Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
Té(withoutobject)y — — — — — — — —Mean=5.65 L6 (without object) — — — — — — ~Mean-8.19
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ = Failure points: 0% 27 - Failure points: 0%
Mean = 3 B = | Mean L - 4
2 2k
it | St i S ———  S—— . — e — o — —Time=>]
16:39:53.79 16:40:36.47 16:41:19.14 16:42:01.82 16:42] 16:39:53.79 16:40:36.47 16:41:19.14 16:42:01.82
L7 (with object Mean: 154.09 L7 {with-objeet) —— — — — — — — — — Mean:75-64
?H_(_3 LR - ‘Acceptable ranger 2.5 | CH{V: Acceptable range: 2.5
+ok = Failure points: 0% +2+ Failure points: 0%
Mean Vo - T 1" Bl M 1 Mean — v r R =i
2 ok
T T T T T T T ey e —————— — - — —Time]
16:43:37.58 16:44:12.53 16:44:47.49 16:45:22.44 16:45] 16:43:37.58 16:44:12.53 16:44:47.49 16:45:22.44
L8 {withoutobject)y — — — — — — —Mean 5.6 8 (without object) — ~ ~— — — — — ~Mean:-8.227
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2= - Failure points: 0% +2r7 = Failure points: 0%
Mean fisdia= wge Tl Tk Mean)H = L L L =a
2 2k
e s s e e s s e e s e s s e LR A EEE————————————
16:46:54.49 16:47:07.19 16:47:19.89 16:47:32.59 16:46:54.49 16:47:07.19 16:47:19.89 16:47:32.59
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: L6 L7 L Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
-L0.1 (withoutobject) Mean: -62.22 | o0 t(withoutobjecty— — ———— — —Mean=6:18
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
42 Failure points: 0% +2- = Failure points: 0%
Mean ¥ = == TR U B 5 Mean| «r o= @ == =
2+ -2
R A e e e T g = —_—— e e e e e e e e — — e ]
08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72 08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72
1 (with object) Mean: 398, L1.1 (with object) Mean: 338
1 Acceptable range: CH 2 Acceptable range:
— S e g s I e e e S BB Faiture pointsT0.
T . _____________ +2F
+2F
Mean|{ = =~ = - - —|Mean| =~ - - - T -
2+ ok
L ' L L Time-> i . 1 1 Time->
08:19:41.68 08:20:22.63 08:21:03.57 08:21:44.52 08:19:41.68 08:20:22.63 08:21:03.57 08:21:44.52
+4r @1 (without object) Mean: 398.17 1 (without object) Mean: 337.58
1 Acceptable range: 2.5 2 Acceptable range: 2.5
Failure points: 2.47% o o ___ Failure points: 1% |
_______________ +2k
+2r
Mean| - 1 1| [ - -+ A4 Mean| — B T — —
-2 -_ _______ '_ _____ B 2k
1 1 1 Ti 1 1 1 i
08:24:54 47 08:25:36.92 08:26:19.37 08:27:01.82 08:24:54 .47 08:25:36.92 08:26:19.37 08:27:01.82

Database: ..\..\ QC_Reports\6_04_08\6_04_08_TA.gdb

Line Name: LO1 L1.1 L2.1

Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
L0 T {withoufobjecty — Mean: 9.69 | 'L0.1T (without object) ~ Mean: 4.18 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
27 - Failure points: 0% +2r7 = Failure points: 0%
Mean = Mean| =
-2 - _2 p—
-y 4 Time-=>] -y Time=>]
08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72 08:15:47.87 08:16:30.82 08:17:13.77 08:17:56.72
L1.1 (with object Mean: 214.18 111 (withobject) Mean: 110.42 |
‘CH‘T:S — e j— )— —————— Acceptable range:2-51 CH‘J:i B Acceptable range: 2.5
o Failure points: 0% 92 Failure points: 0%
+2F
Mean I -1 = —| Mean T = B =
2+ ok
. . . Time-> T T T T T T T Time=>
08:19:41.68 08:20:22.63 08:21:03.57 08:21:44.52 08:19:41.68 08:20:22.63 08:21:03.57 08:21:44.52
L2.1 (without object Mean: 213.89 121 (withoutobjeet) == Mean: 110.3]
-CH—S( T R j_ )_ _____ Acceptable range: 2.5 CH':I;{ i Acceptable range: 2.5
= Failure points: 0% 92 Failure points: 0%
+2F
Mean| - B I B ¥ — | Meanj| — B i m r =
2+ ol
" . . Time-> T T
08:24:54 47 08:25:36.92 08:26:19.37 08:27:01.82 08:24:54 .47 08:25:36.92 08:26:19.37 08:27:01.82
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: LO.1 L1.1 L2.1 Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
L6.1 (withoutobject) _Mean: -44.07 | +6:H{withoutobject)—— —— — — — —Mean:7-021
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2 Failure points: 0% +2+ Failure points: 0%
Mean S R S A - — Mean a (oA = = —
-2r ok
.y Times T Ty T T T Timee>
16:39:53.75 16:40:36.45 16:41:19.15 16:42:01.85 16:39:53.75 16:40:36.45 16:41:19.15 16:42:01.85
L7.1 (with object) Mean: 381.24 L7.1 (with object) Mean: 313.87
CH 1 Acceptable range: 2.5 CH?2_ Acceptable range: 2.5
———————————— Failure-points:-0.572% = Failure points: 0.286% |
+2f +2F
Mean| r 3 T — F o = | Mean - i = H i
-2r 2k
L L L Time-> i 1 t 1 Time->
16:43:37.55 16:44:12.50 16:44:47 .45 16:45:22.40 16:43:37.55 16:44:12.50 16:44:47.45 16:45:22.40
L8.1(withoutobject) _Mean: -43.45 | L8.1 (without objecty — — — — — — —Mean:—7-19]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
42 Failure points: 0% +2+= Failure points: 0%
Mean——-.—-—n._—.. - e — e wmis e e e et w e s e Mean - — e e s . — s —— -
-2 D
- T Times S e o e e e e e e e e S o R
16:46:54.45 16:47:07.15 16:47:19.85 16:47:32.55 16:46:54.45 16:47:07.15 16:47:19.85 16:47:32.55
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: L6.1 L7.1 L8.1 Page: 1




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

PM test
Operator: BG & TA

. Outside range
ate: 2008/06/04

Acceptable limits

L6 1T (withoutobjecty — — — — — — ~ Mean: 8.89 L6. T (withoutobject) — — — — ~Mean: 3.87 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F = Failure points: 0% +2F7 = Failure points: 0%
Mean 1 Mean
2k "Dt
—_—— e — —Timieaa T . S SR SN 1 11 -~
16:39:53.75 16:40:36.45 16:41:19.15 16:42:01.85 16:39:53.75 16:40:36.45 16:41:19.15 16:42:01.85
L7.1 (with object Mean: 198.18 L7 4{with-object)}— — — — — — Mean: 102.27 ]
TH_.’S( —i= )— —————— Acceptabte range:2:5 CHAi B Acceptable range: 2.5
B Failure points: 0% +2k = Failure points: 0%
Mean 1 R T — - = | Mean T T i -
2k 2k
T T R e e
16:43:37.55 16:44:12.50 16:44:47.45 16:45:22.40 16:43:37.55 16:44:12.50 16:44:47.45 16:45:22.40
L8 1 (withoufobject) — — — — — — ~Mean:8.927' 8T ({withoufobjecty — — — — — — Mean 3.87 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2-7 = Failure points: 0% +2 = Failure points: 0%
Mean|: um e am - mT x AR L. 2 EmE L =] Mean |z === T PRSI ST, ) O W Py T T =
2 D=
S S S S ——————— ) 1. 1 e e e AL
16:46:54.45 16:47:07.15 16:47:19.85 16:47:32.55 16:46:54.45 16:47:07.15 16:47:19.85 16:47:32.55
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: L6.1 L7.1 L8.1 Page: 2




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

AM test
Operator: BG & TA
ate: 2008/06/04

L0.2 (without object Mean: -146.75 +0:2(withoutobject) — — — — — — — “Mean- 13- 161
_CH_T( B S e ‘|_ )_ _____ Aeceptable range: 2.5 CHQ—2( t’_ Acceptable range: 2.5
5 - Failure points: 0% +2+ = Failure points: 0%
+ -
Mean. sm  mmaw - - P mE E—-—— A e——- W Mean X A u o e ek ) S e R R N LD e B Ty
2
2+
: : : Time-> _——— —— — — — -— — —Time->{
08:15:47.86 08:16:32.06 08:17:16.27 08:18:00.47 08:18] 08:15:47.86 08:16:32.06 08:17:16.27 08:18:00.47
L1.2 (with object) p— bINleam: 2809 L1.2 (with object) _— tI\:ﬂean: 296,09
cceptable rang cceptable rang
ey ————— Failure points: 0. o L Failure points: 0. o
+21+ +2+
Mean . - 2 ¥ = | Mean 3 - v " B
-2 2k
L L L Time-> i 1 1 Time->
08:19:27.66 08:20:13.36 08:20:59.06 08:21:44.76 08:19:27.66 08:20:13.36 08:20:59.06 08:21:44.76
L2.2 (without object) Mean: 277.2 L2.2 (without object) Mean: 292.95
CH 1 Acc@@@ble range: 2.5 ¢cH2_ _ _ _ _ __ _ _ _ Accd@@blerange: 2.5 |
B R Wk Uis Le o aE e ke W Failurg points: 0.709% = Failure points: 0.218%
+2 B +2 e
Mean| -« [ 5 1 I B -IMeant - = ¥ H - 1
2 ok
L . L L Time-> i . 1 1 Time->
08:24:53.47 08:25:39.39 08:26:25.32 08:27:11.24 08:24:53.47 08:25:39.39 08:26:25.32 08:27:11.24
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb

2\ ep
Line Name: L0.2 L1.2L2.2

Page: 1




Static Calibration Test

Project: Fort Ord

AM test

Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
L0.2({withoufobjecty — — — — — Mean:0.83 | To.Z{withoufobjecty — T~ Mean:-4.T|
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2-7 - Failure points: 0% 27 - Failure points: 0%
Mean 3 = S Mean
2 2k
- 4 Time=>] e S ———
08:15:47.86 08:16:32.06 08:17:16.27 08:18:00.47 08:18] 08:15:47.86 08:16:32.06 08:17:16.27 08:18:00.47
L1.2 (with object Mean: 195.79 -L1.2(with-object}— — — —Mean: 97.11 |
_CH_.'; e ot )— —————— Aeceptable range:2:5 Cani B Acceptable range: 2.5
5 = Failure points: 0% +2+ Failure points: 0%
+ —
Mean B Iy ¥ = | Mean B ¥r pr B
2 o
L L L Time-> T T T L -
08:19:27.66 08:20:13.36 08:20:59.06 08:21:44.76 08:19:27.66 08:20:13.36 08:20:59.06 08:21:44.76
L2.2 (without object Mean: 193.06 L2.2 (withoutobjeet}— — — — — —Mean: 95.73]
TH_j( e st o e )— ————— Acceptabte range2:57 CH%: Cia Acceptable range: 2.5
5 = Failure points: 0% 9 = Failure points: 0%
Meanf, - — M 3 =) Mean v T B
2 ok
T T T T | e ————m
08:24:53.47 08:25:39.39 08:26:25.32 08:27:11.24 08:24:53.47 08:25:39.39 08:26:25.32 08:27:11.24
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: L0.2 L1.2 L2.2 Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
L6.2 (without object Mean: -108.05 -£6:2 {without object}— — — — — — — — —Mean—7-68-
?H_.l( withoutobject) __ __ __ __ __ ‘Acceptable range: 2.5 CH_2_2{ - Acceptable range: 2.5
+of - Failure points: 0% +2+ Failure points: 0%
Mean - o e s e e e e s — . Mean . Ly = o i, ]
2+ ok
- T T T T T T e ————— — — - — —Time
16:39:53.73 16:40:38.93 16:41:24.13 16:42:09.33 16:39:53.73 16:40:38.93 16:41:24.13 16:42:09.33
L7.2 (with object) Mean: 234.31 L7.2 (with object) Mean: 240.51
Acceptable range: 2.5 CHee ——=—— o g Acceptable range: 2.5 |
CH e Failure points 0% | — Failure points: 0%
+21 +2F
Meanf= T RTEEEL. ER =TTttt Mean— YRR M B ~
-2r 2+
L L L Time-> i 1 1 Time->
16:43:37.62 16:44:12.82 16:44:48.02 16:45:23.22 16:45) 16:43:37.62 16:44:12.82 16:44:48.02 16:45:23.22
L8.2 (without object Mean: -107.55 +8-2{withoutobject} — — — —— — — —Mean:-7.49-|
EH_1( withoutobject) ‘Acceptable range: 2.5 CHQ_Z{ 5 Acceptable range: 2.5
+2F = Failure points: 0% +2&= Failure points: 0%
Mean_..- ARSI S N B — - A iy Meanu M.~ . = s s e S k) —— T N LA e e
-2r 2k
T T T T T T T M| e ———— — — — - — — T
16:46:48.42 16:47:02.89 16:47:17.37 16:47:31.84 16:46:48.42 16:47:02.89 16:47:17.37 16:47:31.84
Database: ..\..\_QC_Reports\6_04_08\6_04_08_TA.gdb
Line Name: L6.2 L7.2 L8.2 Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits ate: 2008/06/04
62 (withoutobjecty — — — — — — —MeanT0.63] 6.2 (withoufobjecty — — — — ~Mean-4.37]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ — Failure points: 0% +2F7 = Failure points: 0%
Mean ' - . o e T A EmT o e et a8 Bt y Mean " - om . o -
2 2
e e e e e e e e —— —— -] e — —— —lime=>|
16:39:53.73 16:40:38.93 16:41:24.13 16:42:09.33 16:39:53.73 16:40:38.93 16:41:24.13 16:42:09.33
L7.2 (with object Mean: 156.28 £7 2{with-objec)- —— — — — — — — — Mean-—76-2]
?H_:i( withobjeect) ‘Acceptable range: 2.5 | CH_Z;‘ b Acceptable range: 2.5
+oF = Failure points: 0% +2+ Failure points: 0%
Meant | SWOim T r A LB n ] Mean{— L
2 ok
T T T T T T T T T mes| e ———— — — — - — —Time
16:43:37.62 16:44:12.82 16:44:48.02 16:45:23.22 16:45] 16:43:37.62 16:44:12.82 16:44:48.02 16:45:23.22
82(withoutobjecty  — — — — — — —Mean0.69] 8.2 (withoufobjecty — — — — — — ~Mean:-4.38
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 - Failure points: 0% +2+7 = Failure points: 0%
Mean te i = ot matia cme s et ot e —— s 0 B Fhe L e 2 e Mean-... wict e - g o s o A e e W o Y T T e
2 2k
—_— — — —— —— —— ——— — — —— — —— — | HRg->] -— .y
16:46:48.42 16:47:02.89 16:47:17.37 16:47:31.84 16:46:48.42 16:47:02.89 16:47:17.37 16:47:31.84
Database: ..\

QC_Reports\6_04_0816_04_08_TAgdb

2\
Line Name: L6.2 L7.2 L8.2 Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
L0 (without object Mean: -43.33 +0(withoutobject) —— — — — — — — —Mean—0-361
?H1_1 thoutobjeet) . Acceptable range: 2.5 | CH—W; Acceptable range: 2.5
+2k - Failure points: 0% +2+ Failure points: 0%
Mean= == === =—r - - IR T 1 Mean [y
2 ok
R T o e T e T _— Y — — — —— — — — —— — —Time->]
07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.29 07:52) 07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.29
L1 (with object) Mean: 306.83 L1 (with object) Mean: 255.47
CH 1 ceptable range: 2.5 HL"— —— Acceptable range: 2.5 |
T e e e e e ure points: 0.225% | = Failure points: 0%
+21 +2r
Mean T ¥ ¥ B 1 Mean ¥ i 1 B 1
-2r 2
L L . L Time-> i 1 1 Time->
07:54:32.49 07:55:16.94 07:56:01.39 07:56:45.84 07:57) 07:54:32.49 07:55:16.94 07:56:01.39 07:56:45.84
L2 (withoutobject)  _ _ _ _ ~_ _ Mean:-42.33] +2{withoutobject) ——— — — — — — — Mean:-0.5]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2k Failure points: 0% +2+= Failure points: 0%
Mean e — e —— e L — 3 —1 - ———— o — Meanh it — —— - — s mm mm (0 ew: mmemm w0 mEr o s wm
-2r 2
S R A T I e e i e e
07:59:52.30 08:00:07.75 08:00:23.20 08:00:38.65 07:59:52.30 08:00:07.75 08:00:23.20 08:00:38.65

Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb

Line Name: LO L1 L2

Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
Lo {withoutobject) — — — — — — — ~Mean-2.17 Lo {without object) — — ~Mean:-6.97 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F = Failure points: 0% +2F7 = Failure points: 0%
Mean x Mean
2 2k
e e e e e e i T . S SR SN 1 11 -~
07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.29 07:52) 07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.29
L1 (with object Mean: 158.93 1 {withobjec) — — — — — — — — — —Mean: 7747
?H1_3 thoblec ‘Acceptable range: 2.5 CHiv: Acceptable range: 2.5
+ok = Failure points: 0% +2= = Failure points: 0%
Mean T B T B Mean T 1B v i
] ok
T T T T T T T T T mes| e —————— — o — —Time
07:54:32.49 07:55:16.94 07:56:01.39 07:56:45.84 07:57) 07:54:32.49 07:55:16.94 07:56:01.39 07:56:45.84
L2{withoutobject)y — — — — — — — —Mean:=2.22" 2(without object) — ~— ~— — — — ~Mean:-6.95
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2m= = Failure points: 0% 27 - Failure points: 0%
Mean-.. Ch i e et w— i =, o A - Mean ¥ — il = . - [—
2k 2k
i o s e e s e s s S s el A R OV S S N S VO P OP . 51>~
07:59:52.30 08:00:07.75 08:00:23.20 08:00:38.65 07:59:52.30 08:00:07.75 08:00:23.20 08:00:38.65
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb

2\
Line Name: LO L1 L

Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
L5 (withoutobject) Mean: -49.92 | +t5{withoutobject) ———————— —Mean: =993
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2 Failure points: 0% +2= Failure points: 0%
Mean|== = I T == =4 Meanp- P . v Lol
-2r 2k
e e i i i ) - —_—— — —— —— — — — — — —Time>
16:34:33.75 16:35:18.67 16:36:03.60 16:36:48.53 16:34:33.75 16:35:18.67 16:36:03.60 16:36:48.53
L6 (with object) Mean: 293.63 L6 (with object) Mean: 241.38
CH 1 Acceptable range: 2.5 O H D i i it S e e Acceptable range: 2.5 |
Sl eSS S S S S S S Failure points: 0.707% | = Failure points: 0%
+2F +2r
Mean i ¥ i 111 BB T B L Mean r - B 1
-2r ok
L L L Time-> i 1 1 Time->
16:38:12.56 16:38:59.23 16:39:45.90 16:40:32.58 16:38:12.56 16:38:59.23 16:39:45.90 16:40:32.58
L7 (withoutobject) Mean: -48.31 | +t7{withoutobject) —— —— ——— — —Mean: =918
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
42 Failure points: 0% +2+= - Failure points: 0%
Mean e 1 2 —— = —————— - —— — — - —— Mean..- - P e e —  e——- w34 b mmm tEE m ——— - .
-2F ]
T T T T T T T T T T Times - — — — —— — — — — — —Time->]|
16:41:47.35 16:41:55.83 16:42:04.30 16:42:12.78 16:41:47.35 16:41:55.83 16:42:04.30 16:42:12.78
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L5 L6 L Page: 1




Static Calibrat

ion Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
L5(withoutobject)y — — — — — — — = Mean =59 L5 (without object) — ~— ~— — — — ~—Mean-8.05 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F7 = Failure points: 0%
Mean o= 4 Mean|-
2k 2k
_—— e — —Timeax| e — —— —lime=>|
16:34:33.75 16:35:18.67 16:36:03.60 16:36:48.53 16:34:33.75 16:35:18.67 16:36:03.60 16:36:48.53
L6 (with object Mean: 151.76 6 (wi jeey ——"—M- — — —— — —hear: 73.89-|
?H_(_3 Lol Acceptable range: 2.5 | CH{‘: th-object) Acceptable range: 2.5
sl = Failure points: 0% +2+= Failure points: 0%
Mean ' = BLT R w - Mean v ¥ T ALE - r
_2 p— -2 L
T T T T T T T ey e —— — - — —Time]
16:38:12.56 16:38:59.23 16:39:45.90 16:40:32.58 16:38:12.56 16:38:59.23 16:39:45.90 16:40:32.58
L7 (withoutobject) — — — — — — — — —Mean =571 L7 (withoutobject) — — — — — — —Mean=8.02
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2+" - Failure points: 0%
Mean o s, | s 0., e e Meann-‘——.——..-n'- RN L, e T RS Pt e O N SRS N - K8
D= 2k
——— e — — e s s (e ) S e . i
16:41:47.35 16:41:55.83 16:42:04.30 16:42:12.78 16:41:47.35 16:41:55.83 16:42:04.30 16:42:12.78
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L5 L6 L Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
L0.1 (without object Mean: -63.9 +0:HAwithoutobjecty —— —— —— —— —Mean:6
?H_.l( withoutobject) Acceptable range: 2.5 | CH1_2( - Acceptable range: 2.5
+ok - Failure points: 0% +2 Failure points: 0%
MeanF-tii W MR ==+ 4Mean| : -
2k oL
e i s U e — 0 ————— — — — —— — —Time->
07:49:34.69 07:50:19.89 07:51:05.09 07:51:50Q.28 07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.28
L1.1 (with object) R an: 36?.22§ L1.1 (with object) A ean: 315.272
ccep range: 2. o Acce range: 2.5 |
e e e P Fait ts—0.675% €H2 Failure PBints: 0.225%
+24 +2r
Mean| — ~ Mean} - &
2+
________________ -2
L L L Time-> . i 1 1 Time->
07:54:32.48 07:55:16.93 07:56:01.38 07:56:45.83 07:57] 07:54:32.48 07:55:16.93 07:56:01.38 07:56:45.83
L21 (withoutobject) ~ _ _ _  _ _ Mean:-62.95] 24 {without objeet} — — — — — — —Mean:-5.76-|
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
w2k Failure points: 0% +2+= Failure points: 0%
Mean-_--_..—--._—.—-- e P S Y1) | M—— T e = MeanL—.-—— e e 0 e P i e st e s 1 e e s s s
-2r ik
T Time->| T S S 11111
07:59:52.28 08:00:07.73 08:00:23.18 08:00:38.63 07:59:52.28 08:00:07.73 08:00:23.18 08:00:38.63
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: LO.1 L1.1 L2.1 Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
Lo (withouftobjecty — — — — — Mean:9.59 ‘L0.1T (without object) Mean: 4.7
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 = Failure points: 0% +2-7 = Failure points: 0%
Mean X Mean -
2 2k
e —— —— —— —— —— — [ime->| P~ S SO S . SO ) i -5
07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.28 07:49:34.69 07:50:19.89 07:51:05.09 07:51:50.28
L1.1 (with object Mean: 199.99 -L1.4{with-objeet}- — — — — — — Mean:-102.93
?H_.’)'( bl Lo )— —————— Acceptable ranger 2757 CH_1:: L Acceptable range: 2.5
+2k o Failure points: 0% +2= = Failure points: 0%
Mean| — B Meanf — B
2 ok
T T T T T T T T T T e e ——— - — —mes
07:54:32.48 07:55:16.93 07:56:01.38 07:56:45.83 07:57) 07:54:32.48 07:55:16.93 07:56:01.38 07:56:45.83
T2 (withoutobjecty  — — — — — — —Meanr9:427 27 {withoutobjecty — ~Mean: 4]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 Failure points: 0% 207 - Failure points: 0%
Mean == e Y = oicarer e o el T e Mean[ oaaia amas m g 2 - A
-2r -2
_ — —— —— —— ———— —— — —— — —— — | HRe->] i s e il e s e i i L £
07:59:52.28 08:00:07.73 08:00:23.18 08:00:38.63 07:59:52.28 08:00:07.73 08:00:23.18 08:00:38.63
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: LO.1 L1.1 L2.1 Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
LS 4{without object}- — — — — — — — ‘Mean: -45.13 54 (withoutobjecty - — — — — — — — —Mean:5.271
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
42+ Failure points: 0% +2- = Failure points: 0%
Mean| = = Ty T Mean .
-2+ 2
N T T 1111 -l ———————————— e~ —— T
16:34:33.72 16:35:18.67 16:36:03.62 16:36:48.57 16:34:33.72 16:35:18.67 16:36:03.62 16:36:48.57
L6.1 ( object) Mean: 386.59 L6.1 ( object) Mean: 315.84
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
-l — _Failure points: 1.28% | e e e e s Failure pointsT 0.428% |
+2F *2r
Mean B - = ¥ = | Mean = - - L]
2= ok
L L L ime-> i 1 I 1 Time->
16:38:12.52 16:38:59.22 16:39:45.92 16:40:32.62 16:41) 16:38:12.52 16:38:59.22 16:39:45.92 16:40:32.62
L7 4 (withoutobject) Mean: -44 59 | -7t (withoutobjecty — — — — — — — — Mean-5.48 1
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
42 Failure points: 0% +2= - Failure points: 0%
Mean — e —— ) — L ————— w0 as e —— Meanr—- . —m e —— s e s — v — e w T rw —
-2r 2k
T T T T T T T T T T Times - — — — —— — — — — — —Time->|
16:41:47.32 16:41:55.80 16:42:04.27 16:42:12.75 16:41:47.32 16:41:55.80 16:42:04.27 16:42:12.75
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L5.1 L6.1 L7.1 Page: 1




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

PM test
Operator: BG & TA
Date: 2008/06/05

. Outside range
Acceptable limits

L5 (withouftobjecty — — — — — ~ Mean:7.9T] L5 (withoutobject) — ~Mean:3.53
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 = Failure points: 0% 207 - Failure points: 0%
Meany T A T Mean
_2 — _2 .
e i e - S ., S - O i | 1 | -~
16:34:33.72 16:35:18.67 16:36:03.62 16:36:48.57 16:34:33.72 16:35:18.67 16:36:03.62 16:36:48.57
L6.1 (with object Mean: 198.68 L6 (withobject} — Mean: 102.22 |
_CH_.'; . )— —————— Aeceptable range:2:5 CHJI: B Acceptable range: 2.5
5 = Failure points: 0% +2+ Failure points: 0%
+ —
Mean i T - I Mean s T ¥ r .7
2 ok
L L L Time-> T T T T L
16:38:12.52 16:38:59.22 16:39:45.92 16:40:32.62 16:41] 16:38:12.52 16:38:59.22 16:39:45.92 16:40:32.62
L7 (withoufobject) — — — — — — ~Mean:7.95] 7T (withoufobjecty — — — — — Mean3.55
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2p - Failure points: 0% +2 = Failure points: 0%
Mean e e e e ——r w4 b e Vi ———— ] Mean- e r e ——— s eas . P —— —
2 D=
S S S S ——————— ) 1. 1 e e e AL
16:41:47.32 16:41:55.80 16:42:04.27 16:42:12.75 16:41:47.32 16:41:55.80 16:42:04.27 16:42:12.75
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L5.1 L6.1 L7.1 Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
L0.2 (without object) Mean: -150.5 -£0:2-(without-object)} — — — — — — — - Mean: -13.16 |
CH1_ . Acceptablerange: 2.5 CH 2 Acceptable range: 2.5
= Failure points: 0% | +2+ Failure points: 0%
+2F
Meanpp=———" = T - - = Mean =il - L 0 -
2
_______________________ -2r
; i ; Time-> Y G A S —— i
07:49:34.74 07:50:19.92 07:51:05.10 07:51:50.27 07:49:34.74 07:50:19.92 07:51:05.10 07:51:50.27
L1.2 (with object) Mean: 3@ 1 L1.2 (with object) Mean: 315.17
CH 1 Acceptable rang 5 CH 2 Acceptable range: 2.5
———————————— Faiture-points=0. R T T T 7 7 Failure points: 0.337% |
+2 [ +2 -
Meanf: = n B T - = | Mean " B u i
-2F 2=
L L L Time-> i |. 1 Time->
07:54:32.45 07:55:16.90 07:56:01.35 07:56:45.80 07:54:32.45 07:55:16.90 07:56:01.35 07:56:45.80
L2.2 (without object Mean: -146.49 12.2 (withoutobject) __Mean: -12.6 |
%H—‘t( S j_ )_ _____ Acceptable range: 2.5 | CH'Z_Z( o Acceptable range: 2.5
= Failure points: 0% 2 Failure points: 0%
+2+
Mean Fmi-it=Ha— 1 - — 1] Mean kY WORET T T B SEEME— o s aa
2k
2k
i I I Time-> T T T L
07:59:52.24 08:00:07.72 08:00:23.19 08:00:38.67 08:00| 07:59:52.24 08:00:07.72 08:00:23.19 08:00:38.67
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L0.2 L1.2 L2.2 Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/05
L0.2(withouftobjecty — — — — — ~ Mean: T.25 To.Z{withoutobjecty — ~Mean:-3.83 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2 = Failure points: 0% +2r7 - Failure points: 0%
Mean 2 oy ol Mean|®
2 2k
e e Timess T——— S——— AR f— —— —lime=> |
07:49:34.74 07:50:19.92 07:51:05.10 07:51:50.27 07:49:34.74 07:50:19.92 07:51:05.10 07:51:50.27
L1.2 (with object Mean: 207.41 -11.2(with-object}— — Mean: 103.22 |
_CH_.'; et b )— —————— Acceptable range:2:5- Cani B Acceptable range: 2.5
5 = Failure points: 0% +2 Failure points: 0%
+ —
Mean i 1B -4 - | Mean -- T 1
s o
L L L Time-> T T T L -
07:54:32.45 07:55:16.90 07:56:01.35 07:56:45.80 07:54:32.45 07:55:16.90 07:56:01.35 07:56:45.80
+2:2«(withoutobjecty ——————— — —Mean1:357 22 (withoutobjecty — — — — — — ~Mean-3.827
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+= - Failure points: 0% +2r7 = Failure points: 0%
Mean f— —— - mm e Mean P e - - — - - -
2 2k
—_—— — —— — — — —— — —Tifme-> e e e e e e e
07:59:52.24 08:00:07.72 08:00:23.19 08:00:38.67 08:00' 07:59:52.24 08:00:07.72 08:00:23.19 08:00:38.67
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L0.2 L1.2 L2.2 Page: 2




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

PM test
Operator: BG & TA
Date: 2008/06/05

L5.2 (withoutobject) =~~~ Mean:-104.76 t5:2(withoutobjecty - — — ——— — — —Mean:=7.47
CH_1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
o2k Failure points: 0% +2+ Failure points: 0%
Mean|=~ m T = Mean{: =
1 2k
I ——— ) R e T P e
16:34:33.69 16:35:18.64 16:36:03.59 16:36:48.54 16:34:33.69 16:35:18.64 16:36:03.59 16:36:48.54
L6.2 (with object) Mean: 314 L6.2 (with object) Mean: 296.05
Acceptable range: 2.5 ¢cH2_ _ _ _ _ _ _ _ _ _ Acceptablerange: 2.5 |
4 5 O S S S S Failure pointsT0.321% | = Failure points: 0%
+2r +2 -
Meanr i B ¥ — T Meany i B i m ¥ '
2= -2r
L ', . L Time-> i 1 1 Time->
16:38:12.49 16:38:59.19 16:39:45.89 16:40:32.59 16:38:12.49 16:38:59.19 16:39:45.89 16:40:32.59
L7.2 (withoutobject) Mean: -104.22 | +7:2(withoutobject) — — — — —— — —Mean:~7- 15
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
02k Failure points: 0% +2+= Failure points: 0%
Mean—-- S Ve e e e e —  ————— Y L — Mean--—-. £ — i —— L Y — o e e w1 e -
-2r o=
T T ] i
16:41:47.39 16:41:55.87 16:42:04.34 16:42:12.82 16:42] 16:41:47.39 16:41:55.87 16:42:04.34 16:42:12.82
Database: ..\..\_QC_Reports\6_05_08\6_05_08_TA.gdb
Line Name: L5.216.2 L7.2 Page: 1




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

PM test
Operator: BG & TA
Date: 2008/06/05

. Outside range
Acceptable limits

L52(withoutobjecty — — — — — — ~ Mean:0.5T] 5.2 (withoufobjecty  — — — — ~Mean:-4.35]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F7 = Failure points: 0%
Mean § ke R e < & 5 q1Meany = = = e
2k 2k
—_—— e —— e e — — . — — [ ——— e s Tl
16:34:33.69 16:35:18.64 16:36:03.59 16:36:48.54 16:34:33.69 16:35:18.64 16:36:03.59 16:36:48.54
L6.2 (with object Mean: 190.74 462 (with-ebject)— — — — — — — — — _Mean: 93.89 |
TH_.’S( i )— —————— #cceptabte range 257 Csz B Acceptable range: 2.5
5 = Failure points: 0% +2 - Failure points: 0%
Meant B 3 v H Meang - - L. B - =
2k ok
T T T T T T T T T T T | e ——— 1 ——tme
16:38:12.49 16:38:59.19 16:39:45.89 16:40:32.59 16:38:12.49 16:38:59.19 16:39:45.89 16:40:32.59
L72(withoutobjecty  — — — — — — MeanT0.63] 7.2 (withoutobjecty — — — — — — ~Mean-4.32
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F = Failure points: 0% 2 = Failure points: 0%
M & e e e A e e e ST A Meanp—— - aa . r a il M
2k D=
_____‘I_____I_____I___Tim'e"L _____I_____I____—I___T'i'me'}_
16:41:47.39 16:41:55.87 16:42:04.34 16:42:12.82 16:42] 16:41:47.39 16:41:55.87 16:42:04.34 16:42:12.82
Database: ..\..\_ QC

;eports\6_05_08\6_05_08_TA.gdb

2\
Line Name: L5.2 L6.2 L7.2

Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TF
Grid/Location: QC Area Acceptable limits Date: 2008/06/06
L0 (without object) Mean: -1.13 L0 (without object) Mean: -1.46
CH1 Acceptable range: 2.5 CHA - e e Acceptable range: 2.5 |
+4F Failure points: 5.23% Failure points: 0%
+2+
+2 __ ____________ .
Mean = B Meanp ¢ = = ==
i N
2=
,,4 -
1 1 1 Time-> 1 1
08:10:17.88 08:11:03.62 08:11:49.35 08:12:35.09 08:10:17.88 08:11:03.62 08:11:49.35
+18FL1 (with object) Mean: 143.95 L1 (with object)
+16FCH1 Acceptable ragge: 2.5 | +12rcpo
+14l Failure poi 9% +10F
+12f
+8=
+10f 3
+8t+ +61
+6 +4+
+4 e e
.8 | .-
Mean|— = Meanp— mY
2k O — N oL
2 & ¢ 4 " MW sas
-6 4
-8F -6
-10F+
-8+
12+
-14 1 1 1 Time-> -10 1 1 1 Time->
08:13:39.12 08:14:25.09 08:15:11.07 08:15:57.04 08:13:39.12 08:14:25.09 08:15:11.07 08:15:57.04
(without object) Mean: -1.22 L2 (without object) Mean: -2.02
1 Acceptable range: 2.5 D s ot e e e e e : 2.5
____________ FEailure points: 2% | Failure points: 0%
+ -
+2r £
Mean - o VAR VEEI Mean o -
-2+
_____________ T — — — -2 B
L L L Time-> i 1 1 Time->
08:16:59.77 08:17:14.99 08:17:30.22 08:17:45.44 08:16:59.77 08:17:14.99 08:17:30.22 08:17:45.44

Line Name: LO L1 L2

Page: 1




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark
Grid/Location: QC Area

. Outside range
Acceptable limits

AM test
Operator: BG & TF
Date: 2008/06/06

L0 (withoutobject) — — — — — —Mean: -1.12 o0 (withoutobject)y — — — — — — —— — — Mear—0-61
CH3 Acceptable range: 2.5 CH4 Acceptable range: 2.5
+2f Failure points: 0% +2r Failure points: 0%
Mean ===t - = ] Mean| = =" 5 - TR gEmEma [
‘2 [+ _2 -
Ny Time> ] e —— i————— f———— i —— . ...
08:10:17.88 08:11:03.62 08:11:49.35 08:12:35.09 08:10:17.88 08:11:03.62 08:11:49.35 08:12:35.09
*+8[L1 (with object) Mean: 62.7 L1 (with object) Mean: 29.42
CH3 Acceptable range: 2.5 CH4 Acceptable rgoge: 2.5
6 Failure poi .16% Failure poi .83%
+6h =
+4r +2F
w2 S o .
Meanf=— — Mean| — —
T &
-4 -2
-6 1 1 1 Time-> 1 f y Time->
08:13:39.12 08:14:25.09 08:15:11.07 08:15:57.04 08:13:39.12 08:14:25.09 08:15:11.07 08:15:57.04
L2 (without object Mean: -1.69 +2(withoutobjeet) —— —— — — — — —Mean—8.79
EH(3_ LLLLL L _) ______ ‘Acceptable range: 2.5 | CH{‘-'W Acceptable range: 2.5
+ok Failure points: 0% +24 Failure points: 0%
Mean —— v — — —— Mean Pas e —— s . —— ———
2k ok
T T T T T T T T Ty e ——— - — —imee]
08:16:59.77 08:17:14.99 08:17:30.22 08:17:45.44 08:16:59.77 08:17:14.99 08:17:30.22 08:17:45.44
Line Name: LO L1 L2 Page: 2




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

PM test
Operator: BG & TF
Date: 2008/06/06

L4 (without object) Mean: -2.24 L4 (without object) Mean: -2.16
CH1. __ _ ________________ Acceptable range: 2.5 | HE T T e e Aceceptable range:2:5-
Failure points: 0% Failure points: 0%
+2 +2r
Mean— e — B R L R e Mean:— e omr— rw mamy -a — — —
-2r 2k
1 1 1 Time-> 1 f \ Time->
15:57:59.28 15:58:45.50 15:59:31.72 16:00:17.94 16:01] 15:57:59.28 15:58:45.50 15:59:31.72 16:00:17.94
+8f-L5 (with object) Mean: 156.38 TOTL5 (with object) Mean: 112.85
CH1 Acceptable range: 2.5 CH2 Acceptable range: 2.5
Failure points: 26.6% Failure points: 9.65%
+61 +4+
B W A B S—
Mean—_—.-——1_r —e —— ——— 1 Mean— — " — — — — - P
——— @ -
A4
-8r Time-> Time->
1 1 -6 1 1
16:08:22.06 16:09:07.78 16:09:53.50 16:10:39.22 16:11] 16:08:22.06 16:09:07.78 16:09:53.50 16:10:39.22
(without object) Mean: -2.96 L6 (withoutobject) ~ Mean: -2.19
__________ Acceptable range: 2.5 | CH2 ‘Acceptable range: 2.5 |
Failure points: 0.5% Failure points: 0%
+21 *2r
Mean 't - o my B BT 0 d 1l GEELD — vy LR R 7T W T R F T TTY e @l VT
_2 - -2 L
" ; . Time-> T Time=>]
16:11:49.97 16:12:05.18 16:12:20.40 16:12:35.62 16:12] 16:11:49.97 16:12:05.18 16:12:20.40 16:12:35.62
Line Name: L4 L5 L6 Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark Il @ Outside range Operator: BG & TF
Grid/Location: QC Area Acceptable limits Date: 2008/06/06
L4 (without object) Mean: -1.4 | +4-without-object) ——— —— —— — —Mean—~0:83
CH3 Acceptable range: 2.5 CH4 Acceptable range: 2.5
+25k Failure points: 0% +2t+ Failure points: 0%
Mean . o — - P ——— O — Az — — - Mean.—. Ar i - A e — Lo —
-2r 2k
R AR A | — g ——— —— — — — o — —Time~]
15:57:59.28 15:58:45.50 15:59:31.72 16:00:17.94 16:01] 15:57:59.28 15:58:45.50 15:59:31.72 16:00:17.94
L5 (with object) Mean: 69.28 L5 (with object) Mean: 32.34
CH3 Acceptable range: 2.5 P et e e e Acceptable range-2-5-
Failure points: 1.17% 5 Failure points: 0%
__________________ +2=
+2+
Meanft—7 13194 — 1T ¥ -] Mean Bl N L s (T B SE— = Ean
2k
——————————————— 2=
L L Time-> i 1 1 Time->
16:08:22.06 16:09:07.78 16:09:53.50 16:10:39.22 16:11] 16:08:22.06 16:09:07.78 16:09:53.50 16:10:39.22
L6 (without object) _Mean: -1.61 L6 (withoutobject) —— —————— —tean—=0:91
CH3 Acceptable range: 2.5 CH4 Acceptable range: 2.5
+2F Failure points: 0% +2+= Failure points: 0%
Mean_u ot e s v emmsmm— .4 A § amc ww mew e s e r— Mean-——.-.- - LS e S R DR AT < I SN T T, EF S . ol
-2r 018
- N Time s e e i ) Ui, e
16:11:49.97 16:12:05.18 16:12:20.40 16:12:35.62 16:12] 16:11:49.97 16:12:05.18 16:12:20.40 16:12:35.62

Line Name: L4 L5 L6

Page: 2




Static Calibration Test

Project: Fort Ord

Equi

pment: Magnetometers

Grid/Location: QC Area

. Outside range
Acceptable limits

AM test
Operator: BG & TA
Date: 2008/06/07

L0 (without object)

Mean: 0.00074
Acceptable range: 2.5

+2F-VRT_GRAD Failure points: 0%
Meanf=s—== e —e——ste——cro—a
2k
e L o Time->
11:38:12.10 11:38:14.35 11:38:16.60 11:38:18.85 11:38§21.10
L1 (with object) " Il\z‘lg?n: -0.000292
cceptable range: 2.
+2FVRT_GRAD Failure points: 0%
Mean
2k
= capy i o Time->
11:38:25.10 11:39:10.35 11:39:55.60 11:40:40.85
L2 (without object) — blMean: 61.282
cceptable range: 2.
L Failure points: 0%
+2+
Meanr— - 1
20
L L L Time->
11:41:56.10 11:42:41.35 11:43:26.60 11:44:11.85

Database: ..\..\
Line Name: LO L

L

QC_REPORTS|6_07_0816_07_08_MG.gdb

Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: Magnetometers @ Outside range Operator: BG & TA
Grid/Location: QC Area Acceptable limits Date: 2008/06/07
L12 (without object) 3 tMt:_;an: 0.00022;)
cceptable range: 2.
+2FVRT_GRAD Failure points: 0%
Mean
2+
e e e e o STIMBES]
15:31:10.00 15:31:55.72 15:32:41.45 15:33:27.17
L14 (with object) " leelan: 0.000222
cceptable range: 2.
+2F-VRT_GRAD Failure points: 0%
Mean
2F
SRS B e | SR S S LR 11111~
15:38:04.00 15:38:20.00 15:38:36.00 15:38:52.00
L13 (without object) Mean: 56.73
VRT GRAD Acceptable range: 2.5
= Failure points: 0%
+2
Meant—
2+
L L L Time->
15:34:35.00 15:35:20.75 15:36:06.50 15:36:52.25 15:37|38.00

Database: ..\..\_ QC_REPORTS\6_07_08\6_07_08_MG.gdb
Line Name: L12 L14 L13 Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/11
LO (without object Mean: -3.25 | LO (without obj - _Mean:-2.08|
?H(_.I O 0B _) ______ ~Acceptabte Tanger 2.5 | CH(MZLII bject)- Acceptable range: 2.5
- Failure points: 0% L Failure points: 0%
+2F +2
Mean{= = s = s e s e e e e A Mean i e e e e ]
-2r 2
. Times T T T T T T T imes
08:47:55.51 08:48:46.64 08:49:37.78 08:50:28.92 08:47:55.51 08:48:46.64 08:49:37.78 08:50:28.92
L1 (with object) Mean: 178.66 L1 (with object) Mean: 128.79
CH_1 Acceptable range: 2.5 cHy———— —————— —Acceptable range: 2.5
______________ Failure points: 0% | - Failure points: 0%
+21+
+21
Mean——/ - = i rm Meanp [ pEmam—— T
2F
__________________ -2r
1 1 1 Time-> 1 L . Time->
08:52:18.60 08:53:09.72 08:54:00.85 08:54:51.97 08:55] 08:52:18.60 08:53:09.72 08:54:00.85 08:54:51.97
L2 (without object) Mean: -5.61 L2 (without object) = Mean: -3.16
CcHT  ~— -Acceptable range-2-5 CH 2 “Acceptable range_:2._5_
- Failure points: 0% - Failure points: 0%
+2F +2r
Mean —r —— S —— ——— — Mean R Cim W —— -
-2r 2k
, , . Time-> .,y .y Time>|
08:56:32.76 08:56:44.32 08:56:55.87 08:57:07.42 08:56:32.76 08:56:44.32 08:56:55.87 08:57:07.42
Database: ..\..\ Q _REPORTS\061108\B\061108AMB.gdb
Line Name: LOL1 L2 Page: 1




Static Calibration Test
Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/11
+0-(withoutobject) ——— — — — — — —Mean—*+24+ L0 (withoutobjecty — — — — — — — ~Mean: =057
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F = Failure points: 0% +2r+ - Failure points: 0%
Meanf: ‘- NG LR 2 e =t Mean | s i -
2F -2r
v = —— — Time=> et Sl fa—— S ——)di
08:47:55.51 08:48:46.64 08:49:37.78 08:50:28.92 08:47:55.51 08:48:46.64 08:49:37.78 08:50:28.92
| L1 (with object) — _ _ _ _ _ _ _ _ _ Mean: 792] Lt(withobjecty —— —— —— — — — — Mean-—37:16
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
o2k Failure points: 0% +2+ - Failure points: 0%
Meanp P T ™y 4 Mean P Lama e e ST
-2r 2k
e e ey Time
08:52:18.60 08:53:09.72 08:54:00.85 08:54:51.97 08:55] 08:52:18.60 08:53:09.72 08:54:00.85 08:54:51.97 08:55
‘+2-{without-objeet) — ——— — — — — —Mean—1-63+ 2(withoutobject) — — — — — — ~Mean-0.68
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2r+ - Failure points: 0%
Mean—~ Ty Lt e 1 Mean{—— Cv g et S ki 1
-2F 2k
I T S L LLL el bl sl ————D————— S — .1 A
08:56:32.76 08:56:44.32 08:56:55.87 08:57:07.42 08:56:32.76 08:56:44.32 08:56:55.87 08:57:07.42
Database: ..\..\_ QC_REPORTS\061108\B\061108AMB.gdb
Line Name: LO L1 L2 Page: 2




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/11
L3 (without object) Mean: -2.88 L3 (without object) Mean: -2.1
eH4——————___ Acceptable range: 2.5 | ‘CH2 Acceptablerange:2.57
- Failure points: 0% - Failure points: 0%
+21 +21+
Mean—-.-—. tm o ———w —— ——— 0 — L —— | — Mean— — — o — O r— ) — - m - -
-2r 2k
. . . Time-> e
16:35:13.63 16:35:56.52 16:36:39.41 16:37:22.30 16:35:13.63 16:35:56.52 16:36:39.41 16:37:22.30
L4 (with object) Mean: 179.54 L4 (with object) Mean: 129.47
CH 1 Acceptable range: 2.5 '¢cH-2—— — — — Acceptable range; 2.5 |
- - Failure points: 0.473% | — Failure points: 0%
+21
+2+
Meanr—; m ===/ Meanf—: — = TN e T T
2F
________________ 1 -2r
1 1 1 Time-> 1 L . Time->
16:38:52.37 16:39:35.65 16:40:18.94 16:41:02.22 16:38:52.37 16:39:35.65 16:40:18.94 16:41:02.22
L5 (without object Mean: -5.72 15 (withoutobject) _ ~ ~ ~ ~_ Mean:-3.71]
TH% THOLE 90 J ****** —Acceptabte tange 257 CHlel Acceptable range: 2.5
- Failure points: 0% 0o Failure points: 0%
+2r+
Mean—-—-u— - — — e — — . L) —— ] ———— . — Mean.-—.—.—---u—-——‘ TP vm o om e ——
-2r 2k
e e e
16:42:39.75 16:42:52.61 16:43:05.48 16:43:18.34 16:42:39.75 16:42:52.61 16:43:05.48 16:43:18.34

Database: ..\..\ QC_REPORTS\061108\B\061108PMB.gdb

Line Name: L3 L4 L5

Page: 1




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/11
L3 (without object) — Mean:-1.12] - E3-(withoutobjecty ——————— — —Mean: 0-79
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
2 - Failure points: 0% +2+ Failure points: 0%
Meanr mr=t | 5 BAR | TNWEEY L M7 BB LEEE | LERE Meani  ==mr=——" Sy g K
-2r 2
oy oy 0 Time> ey B R——— R L
16:35:13.63 16:35:56.52 16:36:39.41 16:37:22.30 16:35:13.63 16:35:56.52 16:36:39.41 16:37:22.30
| L4 (withobject) ~~ ~~~~~  Mean:8015] HA4-(with-object) — — — — — — — — — Mean: 3721}
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
2k Failure points: 0% +2+ Failure points: 0%
Mean Y — L — - e v Em R m om e ———— — Mean . - - —— - - - r— ) r— —
-2r 2k
T T T T e e e me
16:38:52.37 16:39:35.65 16:40:18.94 16:41:02.22 16:38:52.37 16:39:35.65 16:40:18.94 16:41:02.22
+5-(withoutobject) ————— —— — —Mean:—=+.65 5(withoutobject) — — — — — — — —Mean =117
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2F — Failure points: 0%
Mean—_ B e w o mm w — A I ——— ke w—— — Mean_ T — - ommaoa e R A - — —— —
2F -2r
— g —— —— ——— —— —— — —— — —Time=>] _——— Y —— —— —— —— — — — —— ——Fife->
16:42:39.75 16:42:52.61 16:43:05.48 16:43:18.34 16:42:39.75 16:42:52.61 16:43:05.48 16:43:18.34

Database: ..\..\_ QC_REPORTS\061108\B\061108PMB.gdb
Line Name: L3 L4 L5

Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/16
LO (without object Mean: -1.61 | LO-(without-object)}- — — — _Mean: -0.79 |
?Hi_.l thoutobject) “Acceptable tange: 2.5 | C|_|(—V;’-lt bject)- Acceptable range: 2.5
+ok - Failure points: 0% +2F Failure points: 0%
Mean———=—"" = |1 ;i TG T LAl 1 Mean——=~—"+ ST o o
-2r 2k
T T T T e, e e
10:27:43.77 10:28:28.70 10:29:13.62 10:29:58.55 10:30} 10:27:43.77 10:28:28.70 10:29:13.62 10:29:58.55
L1 (with object) Mean: 185.63 +61L1 (with object) Mean: 133.87
+8 "CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
- Failure points: 32.6% - Failure points: 8.86%
+61 +41
B O
Meant—; TR B Meant—: R B
2 e T
f 2
4+
-6F 4t
T 1 1 1 Time-> -6 1 ! L Time->
10:31:56.28 10:32:42.49 10:33:28.70 10:34:14.92 10:31:56.28 10:32:42.49 10:33:28.70 10:34:14.92
L2 (without object Mean: -0.87 L2 (without object) — — — Mean: -0.43]
—GH(—T - _j _) ______ _Acceptable range: 2.5 | CH(MZI Acceptable range: 2.5
- Failure points: 0% 2+ = Failure points: 0%
+2+
Mean e === ==~{] Mean — T | FAPr e Ty NN
2F
2F
1 1 L Time-> T T T
10:35:52.10 10:36:07.56 10:36:23.02 10:36:38.47 10:36] 10:35:52.10 10:36:07.56 10:36:23.02 10:36:38.47 10:36

Database: ..\..\ QC_REPORTS\061608\B\061608AMB.gdb

Line

Name: LO L1 L2

Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/16
to(withoutobject) — — — — — — —— — — Mean—0-2] L0 (without object) — —Nean: 0.03]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ = Failure points: 0% +2F - Failure points: 0%
Mean == e a i Mean{™ - . T R
2+ -2r
— 7 —— —— —— | —— —— Hme-> - —— — — — — —Time->
10:27:43.77 10:28:28.70 10:29:13.62 10:29:58.55 10:30] 10:27:43.77 10:28:28.70 10:29:13.62 10:29:58.55
L1 (with object) Mean: 83.05 L1 (with object) Mean: 43.48
CH 3 Acceptable range: 2.5 cH4— —— —————— —Acceptable range: 2.5
- Failure points: 0.82% - Failure points: 0%
7777777777777777777 +2
+21
Meanf—:sr 7 A Mean . TR T =
2+
********* e |
1 1 1 Time-> 1 L . Time->
10:31:56.28 10:32:42.49 10:33:28.70 10:34:14.92 10:31:56.28 10:32:42.49 10:33:28.70 10:34:14.92
L2(withoutobject) — — — — — — —Mean: 0.055| ‘L2 (without object) " Mean: 0.26 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2r+ - Failure points: 0% +2F7 = Failure points: 0%
Meant bkt iy WY s Meanf e L omm L B A um
2F -2r
—_— Y ——— — — — — —Time=>| -y Time=>
10:35:52.10 10:36:07.56 10:36:23.02 10:36:38.47 10:36] 10:35:52.10 10:36:07.56 10:36:23.02 10:36:38.47
Database: ..\..\_QC_REPORTS\061608\B\061608AMB.gdb
Line Name: LO L1 L2 Page: 2




St

atic Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/16
L3 (without object Mean: -0.58 | L3-(without-obi - _Mean:-0.13]
TH% oL 0B J — —— —— —— —— — ~Acceptabte range: 25 CH(—V;lt bject)- Acceptable range: 2.5
2 - Failure points: 0% +2F Failure points: 0%
Mean—gd—g— Rt — "1 " "W i = = Mean{ 7t se—p | M - S
2F ok
e e e
17:15:28.26 17:16:14.10 17:16:59.93 17:17:45.77 17:18] 17:15:28.26 17:16:14.10 17:16:59.93 17:17:45.77
L4 (with object Mean: 203 | L4 (withobject)  ____~ __ Mean 1467
—CH(—1——]——)— — — — — — — Acceptablerange: 2.57 CH 2 - Acceptable range: 2.5
5 - Failure points: 0% 92k Failure points: 0%
+ D=
Mean|——m " o5 —— — 1 - r “ 7 ——] Mean|=i7 G - 1 ——
2+ ok
1 1 1 Time-> oy Time
17:19:11.00 17:20:08.17 17:21:05.35 17:22:02.52 17:19:11.00 17:20:08.17 17:21:05.35 17:22:02.52
L5 (without object Mean: 0.95 -L5(withoutobjeet) — — — — — — — — —Mean:-+.59
?HL.I thoutobject) “Acceptable range: 2.5 | CH-(-V; Acceptable range: 2.5
+2F - Failure points: 0% +2+ Failure points: 0%
Mean'_~—_- | L e — ——— - —— — | w R W e — Mean-.-“_ A e wemw [ER— - —rer- - . — e e ———
-2r 2k
- e e —Time
17:23:49.62 17:24:02.04 17:24:14 .47 17:24:26.89 17:23:49.62 17:24:02.04 17:24:14 .47 17:24:26.89

Database: ..\..\ QC_REPORTS\061608\B\061608PMB.gdb

Line

Name: L3 14 L5

Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/16
L3(withoutobject) — — — — — — — — —Mean: -0.0187] L3 (without objecty — — — “Mean: 0.056 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2r-7 - Failure points: 0%
Mean|: = aa fmii—t=i=4 Mean
2F 2
el s ——— s——— ———{iii -y — —Time->
17:15:28.26 17:16:14.10 17:16:59.93 17:17:45.77 17:18] 17:15:28.26 17:16:14.10 17:16:59.93 17:17:45.77
"4 (withobjecty — — — — — — — — — —Mean 9048 L4 (withobject) — — — — — — = — Mean: 4716
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 0 — Failure points: 0% +2F7 - Failure points: 0%
Mean| == v 2 K —= -1 Mean
2k -2r
i S — S ————— —Lii —_— Yy — — — ——— — —lime=>
17:19:11.00 17:20:08.17 17:21:05.35 17:22:02.52 17:19:11.00 17:20:08.17 17:21:05.35 17:22:02.52
L5 (without object) — — — — — Viean: 0.68 ‘L5 (withoutobject)  — — — — ~Mean:0.087]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 - Failure points: 0% +2F7 - Failure points: 0%
Mean B o mmas am - e “orm o Mean [l i sl = 2 a gy
2+ -2r
_ g ———— — — — —Time-=>| -y — —Time-=>
17:23:49.62 17:24:02.04 17:24:14 .47 17:24:26.89 17:23:49.62 17:24:02.04 17:24:14 .47 17:24:26.89
Database: ..\..\_QC_REPORTS\061608\B\061608PMB.gdb
Page: 2

Line Name: L3 L4 L5




St

atic Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/17
LO (without object Mean: -2.47 | LO (withoutobject) _Mean: -0.85 |
‘GH(—T - _j _) ______ _Acceptable range: 2.5 | CH(V;“ bject)- Acceptable range: 2.5
- Failure points: 0% 2+ Failure points: 0%
+21+
Meanf——— -—"= === VRp " == =l = q Mean|: - g B g
2
2+
1 1 L Time-> -y Thime=>
11:33:55.91 11:35:15.88 11:36:35.85 11:37:55.82 11:39 11:33:55.91 11:35:15.88 11:36:35.85 11:37:55.82
L1 (with object Mean: 165.06 | L1 (with object) | Mean: 119.76 |
L GH(+ I L 7) 7777777 Acceptable range: 2.5 | Cﬁ( 2 lect) Acceptable range: 2.5
- Failure points: 0% w2k Failure points: 0%
+2r+
Meanf—— " " "\ —"=— — Mean|==i -~ —m LLAR mEm TN T L ABELE
2+ ok
\ \ . Time>) | .y Time>
11:40:27.88 11:41:12.52 11:41:57.17 11:42:41.81 11:40:27.88 11:41:12.52 11:41:57.17 11:42:41.81
12 (withoutobject) =~ Mean: -1.35] +2(withoutobject) ——— — — — — — —HMean:—0.28
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
o2k Failure points: 0% +2+ Failure points: 0%
Mean —————— — — L — — " —— % — Mean — —r — — ) —  — Y —— — v v 10— — e
-2r 2
- ey T Time> | T~ = —— —— —— —— —— ——Fime=>]
11:43:53.66 11:44:00.75 11:44:07.85 11:44:14.95 11:43:53.66 11:44:00.75 11:44:07.85 11:44:14.95
Database: ..\..\_ QC_REPORTS\061708\B\061708AMB.gdb
Line Name: LO L1 L2 Page: 1




Static Calibration Test
Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/17
Lo (withoutobject)y — — — — — — — —Mean-0.26 L0 (withoutobjecty — — — — — — — — —team: =026
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ = Failure points: 0% +2+ - Failure points: 0%
Mean 3 e Meanf" I Sy =
2 2F
i s — a—————— ——Li i e S ————— ———— —ki1
11:33:55.91 11:35:15.88 11:36:35.85 11:37:55.82 11:39 11:33:55.91 11:35:15.88 11:36:35.85 11:37:55.82
Lttt (withobjecty —————— — — — —Mean-74-35] LT(withobjecty  — — — — — — — — Mean:38.51]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+= = Failure points: 0% +2r+ - Failure points: 0%
Mean| e T - Y g ==i~] Mean =T -
2F -2r
-y —— p— —— ——Tifme-> el W—————— —————— S—. L
11:40:27.88 11:41:12.52 11:41:57.17 11:42:41.81 11:40:27.88 11:41:12.52 11:41:57.17 11:42:41.81
L2 (without object) — — — — — — ~Mean 0.14] L2 (without object)— — — — — — ~Mean-0.17]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F7 - Failure points: 0%
Mean|-aiss e = SR N S Mean s BabT b B ELALE el mls L T T Ay e
2 2t
_ g ———— — — — —Time-=>| -_——y ¢ —— —Time=>|
11:43:53.66 11:44:00.75 11:44:07.85 11:44:14.95 11:43:53.66 11:44:00.75 11:44:07.85 11:44:14.95
Database: ..\..\_ QC_REPORTS\061708\B\061708AMB.gdb
Page: 2

N

Line Name: LO L1 L




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/17
L3 (withoutobject) Mean:-1.48] - E3-(without-object) — — — — — — — — —Mean:-0.4]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2k Failure points: 0% +2+ Failure points: 0%
Mean|l |« lie= vl e e e ke = o Means A
-2r 2k
e e Time]
12:36:30.59 12:37:18.54 12:38:06.49 12:38:54.44 12:36:30.59 12:37:18.54 12:38:06.49 12:38:54.44
L4 (with object) Mean: 166.27 | 1.4 (withobject) ~ _ _ _ _ _ _ _ _ Mean: 121.11
leH4+ —  _ _ _______ Acceptablerange: 2.5 | CH 2 Acceptable range: 2.5
- Failure points: 0% ok Failure points: 0%
+21+
Mean'___ S — -t r— - Mean——. im— — Caoms v oom —r— v v EmiE A mas e —
2F
2+
1 1 ! Time-> A T .
12:40:54.56 12:41:41.73 12:42:28.89 12:43:16.06 12:44) 12:40:54.56 12:41:41.73 12:42:28.89 12:43:16.06
L5 (withoutobjeet) — — — — —— —  __Mean:-3.14] +5(withoutobject) — — — — — — — — —Mean:~6:69
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
+2 = Failure points: 0% +2+ Failure points: 0%
Mean---<- — 4 v — T e ———— ¥ A s b o e  — Mean WAt ———— kL ALY A Ym0 4 — w1 & A — Y
2F -2r
-y Time> ey e ey e e ey o —Time
12:44:42.84 12:44:50.82 12:44:58.80 12:45:06.78 12:44:42.84 12:44:50.82 12:44:58.80 12:45:06.78

Database: ..\..\_ QC_REPORTS\061708\B\061708PMB.gdb
Line Name: L3 L4 L5

Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/17
L3 (withoutobject) — — — — — — — ~Mean: -0.094 L3 (without objecty — — — — — — “Mean: 0.012]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 - Failure points: 0% +2F7 - Failure points: 0%
Mean| Mean
2+ 2F
—_— = —— — — o~ — —— Time->] -y — —Time->|
12:36:30.59 12:37:18.54 12:38:06.49 12:38:54.44 12:36:30.59 12:37:18.54 12:38:06.49 12:38:54.44
Ft4 (withobjecty — — — Mean—757 L4 (with objecty — — — — — — — T Mean39 131
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 0 — Failure points: 0% +2F7 - Failure points: 0%
Meanpr= = == A = Mean{*
2 2t
by S ————— S ———— —kii —_— Yy — — — ——— — —lime=>
12:40:54.56 12:41:41.73 12:42:28.89 12:43:16.06 12:44] 12:40:54.56 12:41:41.73 12:42:28.89 12:43:16.06
L5(without object) — — — — — — — —Mean-0.22] ‘L5 (withoutobject)  — — — — “Mean: -0.067]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F7 - Failure points: 0%
Mean M- Nt = WA W ™ W PV WS Tk ] Mean m Wi iPy a i VIS i e i Vi oW e
2+ 2F
—_— Y ——— — — — — —Time=>| -y — —Time-=>
12:44:42.84 12:44:50.82 12:44:58.80 12:45:06.78 12:44:42.84 12:44:50.82 12:44:58.80 12:45:06.78
Database: ..\..\_ QC_REPORTS\061708\B\061708PMB.gdb
Page: 2

Line Name: L3 L4 L5




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/18
L3 (withoutobject)  _ _ ~ ~ ~ _~ __ Mean: -1.29] - E3-(withoutobject} — — — — — — — — —Mean: -0.26
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2k Failure points: 0% +2+ Failure points: 0%
Mean| TR AT B IV UB = 71 Meanr Soar o i 2
-2r 2
. oy Time> T T T Time
17:27:11.43 17:27:59.44 17:28:47.46 17:29:35.48 17:30) 17:27:11.43 17:27:59.44 17:28:47.46 17:29:35.48
L4 (with object Mean: 227.04 | 14 (with object) : ]
S CFI(T —_— j— —) ——————— Acceptable-range:2.5- CH 2 - Acceptable range: 2.5
- Failure points: 0% o Failure points: 0%
+2+
Mean — 3 — | —— — = — - —— —— W ama s Mean Carm mm e mema s - i ma —
2+ ok
' ' | Time>} | .y Time>
17:31:27.63 17:32:16.30 17:33:04.98 17:33:53.65 17:31:27.63 17:32:16.30 17:33:04.98 17:33:53.65
L5 (withoutobject) _________ Mean:0.7] -+£5(withoutobjeet) —— —— — — — — —Mean:-0.62-
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
02k Failure points: 0% +2+ Failure points: 0%
Mean-—..—--- im mm s EmrE mmmEam w0 e — e — —— - - Mean ------ .. - - oA - u - [,
-2r 2k
- T T T T Times — g — — — 5 — —Time>
17:36:09.64 17:36:34.13 17:36:58.63 17:37:23.12 17:37) 17:36:09.64 17:36:34.13 17:36:58.63 17:37:23.12

Database: ..\..\ QC_REPORTS\061808\B\061808PMB.gdb

Line

Name: L3 14 L5

Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/18
L3(withoutobject)y — — — — — — — —— —Mean: 070557 L3 (without objecty — — — “Mean: 0.045]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ 7 = Failure points: 0% +2F7 - Failure points: 0%
Mean A T == 7] Mean =
2F 2t
— 7 —— — — - —— —— Hime-> _— gy — — — — —Time->
17:27:11.43 17:27:59.44 17:28:47.46 17:29:35.48 17:30) 17:27:11.43 17:27:59.44 17:28:47.46 17:29:35.48
- L4 (withobjecty — — — — — — — — — Mean—066-69- L4 (withobjecty —Mean: 521
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2r-7 - Failure points: 0%
Mean{" TN ‘B T R v Meanf{ -
2F -2r
—_ g — — — — — — — — — — —Jime->] -y _Time=>]
17:31:27.63 17:32:16.30 17:33:04.98 17:33:53.65 17:31:27.63 17:32:16.30 17:33:04.98 17:33:53.65
L5(withoutobject) — — — — — — —Mean0.327] ‘L5 (without object)  — — — — Mean 0.17]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 = Failure points: 0% +2r-7 - Failure points: 0%
Mean T i - = "y Mean » L LR
2 2t
el Sl ————— l————— S — .1 _—— e — — — — —Time=>
17:36:09.64 17:36:34.13 17:36:58.63 17:37:23.12 17:37) 17:36:09.64 17:36:34.13 17:36:58.63 17:37:23.12
Database: ..\..\_QC_REPORTS\061808\B\061808PMB.gdb
Line Name: L3 L4 L5 Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/18
LO (without object Mean: -0.74  LO-(withoutobjeet — — — — — — — — —Mean: -0-3H]
?Hi_.l thoutobject) “Acceptable tange: 2.5 | CH(V;lt biect)- Acceptable range: 2.5
+ok - Failure points: 0% +2+ Failure points: 0%
Mean{: = ri— ARV B i LT | BB R Mean|p =4 - - 3 TY A A
2+ ok
T T e e e
08:51:27.19 08:52:00.57 08:52:33.96 08:53:07.34 08:51:27.19 08:52:00.57 08:52:33.96 08:53:07.34
L1 (with object Mean: 206.28 L1 (with object) | Mean: 148.06 |
3 CH(T n oble 7) fffffff Acceptablerange:2.51 CH 2 ject) Acceptable range: 2.5
- Failure points: 0% 0o Failure points: 0%
+2r+
Mean|=———"—" Al wwm EREI = " 1 Mean|| 4 — BAl T i | . —
-2r 2k
ey Tmee P L Times
08:55:12.21 08:55:54.78 08:56:37.36 08:57:19.93 08:55:12.21 08:55:54.78 08:56:37.36 08:57:19.93
L2 (without object Mean: 0.03 L2 (without object) _ Mean:-0.28
?H% thoutobject) “Acceptable tange: 2.5 | CH(—‘AZI Acceptable range: 2.5
- Failure points: 0% 92 Failure points: 0%
+21
Mean o 1 i m . e —— A ———— — — —— — i — — Mean — R R B S —— ———— Y - R e ENE R AR
-2r 2k
T T e e e
08:58:31.44 08:58:44.22 08:58:57.00 08:59:09.78 08:58:31.44 08:58:44.22 08:58:57.00 08:59:09.78
Database: ..\..\_QC_REPORTS\061808\B\061808AMB.gdb

Line Name: LO L1 L

N

Page: 1




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/18
Lo (withoutobject) — — — — — — — — —Mean: 0.021] | CO (without object) — ~ Mean: -0.0057 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+7 = Failure points: 0% 217 - Failure points: 0%
Mean|-: N i Aay 4ia ‘=i Mean 2 3 = a
2 2t
—_— = —— — — o~ — —— Time->] -y Time->
08:51:27.19 08:52:00.57 08:52:33.96 08:53:07.34 08:51:27.19 08:52:00.57 08:52:33.96 08:53:07.34
rEt(withobjecty — — — — — — — — — —Mean 9147 LT (withobjecty — — — — — — — Mean: 4744
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F = Failure points: 0% +2F7 - Failure points: 0%
Mean | = =i =— - T Mean an Lo = TE
2 2t
i S — S ————— —Lii —_— Yy — — — —— — —lime=>|
08:55:12.21 08:55:54.78 08:56:37.36 08:57:19.93 08:55:12.21 08:55:54.78 08:56:37.36 08:57:19.93
2(withoutobject) — — — — — — — —Meanm 0.15 2 (withoutobject)— — — — — — ~ Mean 0.157
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ = Failure points: 0% +2F 7 - Failure points: 0%
Mean p——=lep === —— V= Fun s o Mean—= R Tt B T T T T BT
2+ 2F
bl l———————h———— S——— 1. _— e — - —— ——Time->/
08:58:31.44 08:58:44.22 08:58:57.00 08:59:09.78 08:58:31.44 08:58:44.22 08:58:57.00 08:59:09.78
Database: ..\..\_QC_REPORTS\061808\B\061808AMB.gdb
Line Name: LO L1 L2 Page: 2




St

atic Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/23
_LO (withoutobject) ~ ~ ~ ~ ~ ~ ~  Mean:-1.08| rEO (withoutobjecty —— —— —— —— —Mean: =0-84
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
w2k Failure points: 0% +2+ Failure points: 0%
Meant= bt s —1 - = mm—= —1 Mean|-
2+ ok
T T e e e
10:14:35.03 10:15:21.01 10:16:07.00 10:16:52.98 10:14:35.03 10:15:21.01 10:16:07.00 10:16:52.98
L1 (with object Mean: 215.28 L1 (with-object)— — — — — — — — — — Mean:157.15.1
i C_H(1_ hobjec) Acceptable range: 2.5 C4|;( 2 i Acceptable range: 2.5
+oF - Failure points: 0% +2= Failure points: 0%
Meanf wimim—- =+ IBEA MEIRNYY W = = —1Meanp = MEER. KT R L " e
-2r 2k
e e T
10:18:52.91 10:19:36.42 10:20:19.93 10:21:03.44 10:18:52.91 10:19:36.42 10:20:19.93 10:21:03.44
12 (without object) | Mean: 0.06 | +2(withoutobjeet) — — —— — — — — —Mean:—0.62-
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
02k Failure points: 0% +2+ Failure points: 0%
Mean-.- e —— e — e A% " A T Y e em W m s Mean--'.v_.-.wv. — i mm a Emw wr ma o s - a oy e v — —
-2r 2
T Time > T T T T Ty T Ty~ —Fime=]
10:22:29.49 10:22:40.75 10:22:52.02 10:23:03.28 10:22:29.49 10:22:40.75 10:22:52.02 10:23:03.28
Database: ..\..\ Q _REPORTS\062308\B\062308AMB.gdb
Line Name: LOL1 L2 Page: 1




Static Calibration Test
Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/23
L0 (without object) — ~— — — Mean-0.5| L0 (without objecty — — — — — — ~Mean: -0.39]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F7 - Failure points: 0% +2F7 - Failure points: 0%
Mean Mean{-
2F 2F
—_— = — — — —— — —— Time=>] -y — — — —Time->
10:14:35.03 10:15:21.01 10:16:07.00 10:16:52.98 10:14:35.03 10:15:21.01 10:16:07.00 10:16:52.98
CT(withobjecty — — — — — — — — ~Mean: 99.05 ] LT (with object) — ~— ~— — — — — — Mean: 52.09'}
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2r+ - Failure points: 0% +2-7 - Failure points: 0%
Meant a i += | Meanf|
2 2t
_—— Yy ——— — —— g —— —Time>| ] m———— e p——— b L1 oo
10:18:52.91 10:19:36.42 10:20:19.93 10:21:03.44 10:18:52.91 10:19:36.42 10:20:19.93 10:21:03.44
T2{withoutobject) — — — — — — — ~Mean-0.48 L2 (without object)  ~— — — — — ~MeanT-0.47]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 - Failure points: 0% +2F7 - Failure points: 0%
Meanjfppig oy N prow prmn-T-1 g T == e s Mean e == - N T T e a2
2F 2
-y ——— — — — — —Time=>| -_——y ¢ —— —Time=>|
10:22:29.49 10:22:40.75 10:22:52.02 10:23:03.28 10:22:29.49 10:22:40.75 10:22:52.02 10:23:03.28
Database: ..\..\_QC_REPORTS\062308\B\062308AMB.gdb
Page: 2

N

Line Name: LO L1 L




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

PM test
Operator: BG & TA
Date: 2008/06/23

L3 (withoutobject) Mean:-1.95] - L3 (without object)} — — — — — — — — —Mean: -0.41]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
w2k Failure points: 0% +2 Failure points: 0%
Mean ma 0 aaear o om DRI mm om o marr om0 e o — -] Mean - T - - — - —
-2r 2k
oy Time) ey T T Time
18:09:52.95 18:10:35.32 18:11:17.69 18:12:00.07 18:12] 18:09:52.95 18:10:35.32 18:11:17.69 18:12:00.07
L4 (with object) Mean: 208.62 | 14 (withobject) ~—  ~ ~ ~~ Mean:155.08]
'cH4+ . Acceptablerange: 2.5 | CH 2 Acceptable range: 2.5
- Failure points: 0% o2k Failure points: 0%
+2+
Meany = — R Meanf=is (=== =« =~ AT AT T R
2+
2t
1 1 1 Time-> Ny Time->|
18:13:45.29 18:14:33.01 18:15:20.74 18:16:08.46 18:13:45.29 18:14:33.01 18:15:20.74 18:16:08.46
-L5-(witheutobjeet) — — — — — — — — —Mean—4.05- L5(withoutobject) — — — — — — — — —Mean=6:42
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
+2+ - Failure points: 0% +2+ Failure points: 0%
Mean e = v —— ) — —— R ———— —— — — . — A — ) — Mean T AAY VAT — e * N — — WY v E RN AL L e— A ——— & —
2k -2r
T Y S SR L -l T —— —— T —— ——Hfme->
18:17:49.57 18:17:54.32 18:17:59.06 18:18:03.81 18:17:49.57 18:17:54.32 18:17:59.06 18:18:03.81

Database: ..\..\_QC_REPORTS\062308\B\062308PMB.gdb
Line Name: L3 L4 L5

Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/23
L3 (without object) — — — — — — Miean-0.16 ] L3 (without objecty — — — ‘Mean:-0.008]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 - Failure points: 0% +2F7 - Failure points: 0%
Mean| - 4 Mean
2F 2t
—_———— — ——— — — - — ——Time=>] - Yy — —— —Time->|
18:09:52.95 18:10:35.32 18:11:17.69 18:12:00.07 18:12] 18:09:52.95 18:10:35.32 18:11:17.69 18:12:00.07
- E4-(with-object) —— — — — — — —— —Mean:-98-09 4(withobjecty—— — — — — — — — — Mean 5174
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+= = Failure points: 0% +2+ - Failure points: 0%
Meantg ms === = . = ——i aaui | Mean| - — i
2+ 2F
- N T T T T T Ty —_dime>— o —— —— et Sl —— ————_ LA
18:13:45.29 18:14:33.01 18:15:20.74 18:16:08.46 18:13:45.29 18:14:33.01 18:15:20.74 18:16:08.46
L5 (without object) — — — — — — “Mean: -0.07T] L5 (without object)  ~— — ~— — — Mean™-0.3]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F7 - Failure points: 0% +2r-7 - Failure points: 0%
Mean S A RTWLL AR L AN W VAT WerY. W ———— YA AT WA AT (ETE Ammm mmi A - Mean v AT R AT LAY T AW AA  EEY.W N M lww w.YwimAw mY m A viaa
2+ 2t
_—— Y — — — —Time=> _—— e — — — — —Time=>
18:17:49.57 18:17:54.32 18:17:59.06 18:18:03.81 18:17:49.57 18:17:54.32 18:17:59.06 18:18:03.81
Database: ..\..\_QC_REPORTS\062308\B\062308PMB.gdb
Line Name: L3 L4 L5 Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/24
_LO (without object) Mean: -1.3 | | LO (withoutobject)} — — — _Mean: -0.61]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2k Failure points: 0% +2F  — Failure points: 0%
Mean{' == iy - 3 Aiiliwp —] Mean|- - Bl (Mg 2
-2r 2k
- T T T T Times e S B B 1
09:14:50.58 09:15:36.74 09:16:22.90 09:17:09.06 09:17] 09:14:50.58 09:15:36.74 09:16:22.90 09:17:09.06
L1 (with object Mean: 213.57 L1 (with-object)— — — — — — — — _ Mean-156.88]
i C_H(1_ hobjee) Acceptable range: 2.5 | C_1|'—|( 2 i Acceptable range: 2.5
+2F - Failure points: 0% +2F Failure points: 0%
Mean =V % 1ol 1" WL i == | Mean| fala e feml lims e e e e B ™
-2r 2k
ey Times oy Time
09:19:05.48 09:19:50.73 09:20:35.98 09:21:21.23 09:19:05.48 09:19:50.73 09:20:35.98 09:21:21.23
L2 (without object) _ Mean: -1.44 | L2 {withoutobject) — — — — — — — — —Mean: 0.7+
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2R Failure points: 0% +2+ Failure points: 0%
Mean - — i r—— — e — - —— —— " — — Mean-‘.‘ b —— T R R 7R e— e ———— 7 L —
-2r 2k
T e e —Time]
09:22:45.82 09:22:52.05 09:22:58.29 09:23:04.53 09:22:45.82 09:22:52.05 09:22:58.29 09:23:04.53
Database: ..\..\ Q REPORTS\062408\B\O62408AMB.gdb

I\)

Line Name: LO L

Page: 1




Static Calibration Test
AM test
Operator: BG & TA

Project: Fort Ord
Equipment: EM-61 Mark I . Outside range
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/24
Lo (withoutobject) ™ ~— ~— ~— ~— ~— — — ~Mean:0.039 L0 (withoutobjecty — — — — =~ =~ = “Mean -0.0T]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 - Failure points: 0% +2F - Failure points: 0%
Mean a e | Mean .
2+ 2t
el iel————— a—————— S —. .4, i el f—— i ——— it
09:14:50.58 09:15:36.74 09:16:22.90 09:17:09.06 09:17] 09:14:50.58 09:15:36.74 09:16:22.90 09:17:09.06
Tt (withobjecty — — — — — — — — — Meanm 9957 LT (withobject) — — — — — — — 7 Mean 52.53]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ 7= Failure points: 0% +2F7 = Failure points: 0%
Mean| - e my o= = Mean 2
2+ -2r
-y g —— y— —— —Time->] - e _Time->]
09:19:05.48 09:19:50.73 09:20:35.98 09:21:21.23 09:19:05.48 09:19:50.73 09:20:35.98 09:21:21.23
L2 (withoutobject) ~ 7 " Mean:0.037| T2 (withoutobject)™ ~— ~— ~— ~— ~— ~ = "Mean: -0.095|
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2r7 - Failure points: 0% +2F7 - Failure points: 0%
Mean Fam v mim e e e ———— — A A A A Teev— e AL A Ewaw | Mean o 1 - o Y ——— Y. s o m Wi i T e ———— - ———r—
2 2
-_— - —Time=> -y —— —Time=>
09:22:58.29 09:23:04.53 09:22:45.82 09:22:52.05 09:22:58.29 09:23:04.53

09:22:45.82 09:22:52.05

Page: 2

Database: ..\..\ QC_REPORTS\062408\B\062408AMB.gdb

Line Name: LO L1 L

N




Static Calibration Test

Project: Fort Ord
Equipment: EM-61 Mark I
Grid/Location: QC Area

. Outside range
Acceptable limits

PM test
Operator: BG & TA
Date: 2008/06/24

L3 (without object) Mean: -1.66 - E3-(withoutobject} — — — — — — — — —Mean: -0.56
eHt+————————— — -Acceptable range: 2.5 CH 2 Acceptable range: 2.5
- Failure points: 0% +2+ Failure points: 0%
+2+
Meant L — = Mean|| == T e e Ty T
2t
2t
. . . Time-> -~ —— —— g —— —Time=]
18:19:59.58 18:20:42.00 18:21:24.42 18:22:06.84 18:22] 18:19:59.58 18:20:42.00 18:21:24.42 18:22:06.84
L4 (with object Mean: 213.42 L4 (withobject) ~ ~ ~ ~ Mean:157.85]
fCH(T—j——)— — — — — — —— Acceptablerange:2.57 CH 2 - Acceptable range: 2.5
- Failure points: 0% o2k Failure points: 0%
+2+
Mean{ —=—=r———0== - = b= === " Mean| = == e T TR . —
2t ok
1 1 1 Time-> oy Time->|
18:23:28.97 18:24:11.23 18:24:53.50 18:25:35.77 18:26] 18:23:28.97 18:24:11.23 18:24:53.50 18:25:35.77
15 (withoutobject)  ____~~__ Mean:-3.59] +t5({withoutobject) — — — — — — — — —Mean—=6.79]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
o Failure points: 0% +2+ Failure points: 0%
Mean'_r.-v———u - aws —— ¢ — o ———— Mean VAT R AW . —— —  r——— A AW — —— L1 A A A
-2r 2k
T T T e Time
18:26:47.66 18:26:52.66 18:26:57.66 18:27:02.66 18:26:47.66 18:26:52.66 18:26:57.66 18:27:02.66

Database: ..\..\ QC_REPORTS\062408\B\062408PMB.gdb

Line Name: L3 L4 L5

Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/24
L3(withoutobject) — — — — — — — — —Mean: -0.069] L3 (withoutobjecty — — — — — — — ~Meam =0.067]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F - Failure points: 0%
Mean{ -~ = bt Meang- = S e TR T
2+ 2
el s ——— s——— ———{iii it s——— i ——— S ———hi.
18:19:59.58 18:20:42.00 18:21:24.42 18:22:06.84 18:22] 18:19:59.58 18:20:42.00 18:21:24.42 18:22:06.84
- k4 (withobjecty ———m ——— — —— —Mean:-99-89 L4 (withobjecty ——————— — — — Meam 5254
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2+ - Failure points: 0%
Mean|: B b1 am— 2 =it = Mean B i A el =
2k -2r
-y —Time> ———— 71— — — —— —— —Hme>]
18:23:28.97 18:24:11.23 18:24:53.50 18:25:35.77 18:26] 18:23:28.97 18:24:11.23 18:24:53.50 18:25:35.77
L5 (without object)— ~— — — — — ~—Mean: 0.023 | ‘L5 (without object) " Mean: 0.013|
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2r+7 - Failure points: 0% +2r7 - Failure points: 0%
Mean A WY A & — Y — Y ——— - S WA RN L= WA AYA YR YA AA AT S — s — Mean_-u- V. EmA M WA AR T W Y AW WA R TAW A A4 RTAW AT R 1A A AW W AA L Ao YTLTAY
2F 2t
- -~ —_Time=>| - 4 ___ _Time=>|
18:26:47.66 18:26:52.66 18:26:57.66 18:27:02.66 18:26:47.66 18:26:52.66 18:26:57.66 18:27:02.66
Database: ..\..\_QC_REPORTS\062408\B\062408PMB.gdb
Line Name: L3 L4 L5 Page: 2




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
LO (without object Mean: -0.011 " LO-(withoutobjecy- — — — — — — — — — Mean-0-13]
?HL.I thout object) “Acceptable range: 2.5 | CH(V;H: bject) Acceptable range: 2.5
+2F - Failure points: 0% +2+ Failure points: 0%
Mean= » emlimm—— = i — min " nEm o Mean{; a m oy
2+ ok
T T T e e e
10:44:04.02 10:44:51.08 10:45:38.15 10:46:25.21 10:44:04.02 10:44:51.08 10:45:38.15 10:46:25.21
L1 (with object) Mean: 222.81 L1 (with object) Mean: 161.38
CH 1 Acceptable range: 2.5 'CH 2~~~ T T T Acceptable Tange 257
- Failure points: 0% +ok - Failure points: 0%
+21
Mean ] Mean| & it TR —
2F
—————————————————— 2t
. . \ e . Time |
10:49:02.03 10:49:48.81 10:50:35.59 10:51:22.37 10:49:02.03 10:49:48.81 10:50:35.59 10:51:22.37
L2 (without object Mean: 3.06 +2(withoutobject) ——— — — — — — —A\ean:—+-26
?HL.I thoutobject) “Acceptable tange:r 2.5 | CHﬁzv Acceptable range: 2.5
+ok - Failure points: 0% +2+ Failure points: 0%
Meanr—=m—ri— 7 ——r = e s e~ — == Mean - 3 BRARIT PV A AR AL Bl
2+ ok
o Time> | - —— — — — — — — — — —TFime=>
10:54:21.32 10:54:37.31 10:54:53.31 10:55:09.30 10:54:21.32 10:54:37.31 10:54:53.31 10:55:09.30
Database: ..\..\_QC_REPORTS\062508\A\062508AMA.gdb
Line Name: LO L1 L2 Page: 1




Static Calibration Test
Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
“LO(withoutobject) — — — — — “Mean: 0.0029 | L0 (withoutobjecty ~—Mean: -0.0047 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2rF - Failure points: 0% +2F7 - Failure points: 0%
Mean Mean
2 2
—_———— — ———— — — —— — ——Time=>] -y — —Time->|
10:44:04.02 10:44:51.08 10:45:38.15 10:46:25.21 10:44:04.02 10:44:51.08 10:45:38.15 10:46:25.21
- Et+-(withobjecty ———m —— —— — — Mean=—16+89 LT (withobjecty  — — — — — — — Mean: 53.727
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2F - Failure points: 0%
Meant; =ik e = m—e—= s Mean|r - n
2 2F
S T (Y S L - el m————————— —— G\
10:49:02.03 10:49:48.81 10:50:35.59 10:51:22.37 10:49:02.03 10:49:48.81 10:50:35.59 10:51:22.37
L2 (without object) | Mean: 0.74 | L2 (without object) | Mean: 0.48 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
02 Failure points: 0% +2F - Failure points: 0%
Mean TR VL | JEE mme a e Mean 7T\ ERE
2F -2r
T T T T T T T Times - T imes |
10:54:21.32 10:54:37.31 10:54:53.31 10:55:09.30 10:54:21.32 10:54:37.31 10:54:53.31 10:55:09.30
Database: ..\..\_QC_REPORTS\062508\A\062508AMA.gdb
Page: 2

N

Line Name: LO L1 L




Static Calibration Test

Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
L3 (withoutobject) —  __ Mean:-032 rE3-(withoutobjecty — — — — — — — — Meam 6:041
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2 Failure points: 0% +2+= = Failure points: 0%
Mean = T TTa T AT T (AN TS TN TR Mean
-2r 2k
T T Tmes - —Time>]
16:24:55.18 16:25:41.82 16:26:28.47 16:27:15.11 16:24:55.18 16:25:41.82 16:26:28.47 16:27:15.11
L4 (with object) Mean: 211.08 | L4 (withobject) ~ ~ Mean: 153.64 |
,6H+7777777777AmeMaMarangeli CH 2 Acceptable range: 2.5
- Failure points: 0% R - Failure points: 0%
+21-
Meanf—— (== 7 = — T Y Ty —=f Mean—— =T T R TW VL W =
2F ok
: : ' Time-> by Time>
16:28:42.28 16:29:28.85 16:30:15.43 16:31:02.01 16:28:42.28 16:29:28.85 16:30:15.43 16:31:02.01
L5 (withoutobject) — — — — —— —_ ____Mean:-0.84 +5{withoutobject) — — — — — — — — —Meam6:22]
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
92 Failure points: 0% +2+= Failure points: 0%
Meanty—mE™ -l oSy =1 Gt e Mean M- e T S - v g ot T {1 Bk A
-2F 2
oy Time> e S T R
16:32:18.43 16:32:34.17 16:32:49.90 16:33:05.63 16:33| 16:32:18.43 16:32:34.17 16:32:49.90 16:33:05.63

Database: ..\..\ QC_REPORTS\062508\A\062508PMA.gdb

Line

Name: L3 14 L5

Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
L3 (withoutobject)™ ~— ~— ~— ~ ~— —  — ~ Mean’-0.05] L3 (withoutobjecty — — — — — 7 7 7 Mean -0.025]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2r+7 = Failure points: 0% +2r-7 - Failure points: 0%
Mean| Mean
2+ -2r
s il s—————n——..4 -y — —Time->
16:24:55.18 16:25:41.82 16:26:28.47 16:27:15.11 16:24:55.18 16:25:41.82 16:26:28.47 16:27:15.11
- k4-(with-object} — — — — — — — — — -Mean:- 9699 L4(withobjecty — — — — — — — — — Meam 51041
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ Failure points: 0% +2+ - Failure points: 0%
Mean—"+= - T W g Meanr—-~ - 8 -
2k -2r
S T T S L1 -l 7 —— —— ——— —— —Hime->
16:28:42.28 16:29:28.85 16:30:15.43 16:31:02.01 16:28:42.28 16:29:28.85 16:30:15.43 16:31:02.01
L5 (withoutobject) ™ ~— ~— ~— ~— — —  — ~ Nean 0.1 L5 (withoutobject)™ ~ ~— ~— ~— ~— ~ = "Mean: -0.054
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F 7 - Failure points: 0% +2F7 - Failure points: 0%
Mean Wt Sl ™ T Tl e Meany 7 Y W =
2F 2t
_— Y — = —— ——Time-> -y —— —Time=>
16:32:18.43 16:32:34.17 16:32:49.90 16:33:05.63 16:33| 16:32:18.43 16:32:34.17 16:32:49.90 16:33:05.63
Page: 2

Database: ..\..\_QC_REPORTS\062508\A\062508PMA.gdb
Line Name: L3 L4 L5




Static Calibration Test

Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
LO (without object Mean: -2.17 - LO-(without object} — — — — — — — — —Mean: -0-65
?Hi_.l thoutobject) “Acceptable tange: 2.5 | CH(-V;H biect)- Acceptable range: 2.5
+ok - Failure points: 0% +2+ Failure points: 0%
Mean|—- T AR e = T, {Meanj 1 aimiin i
2+ ok
S 7 B B el e 5
08:53:33.88 08:54:16.63 08:54:59.37 08:55:42.12 08:53:33.88 08:54:16.63 08:54:59.37 08:55:42.12
L1 (with object Mean: 212.85 L1 (with object) I Mean; 157.19 |
- CFI(T — j— —) ——————— Acceptable-range:2.51 CH 2 - Acceptable range: 2.5
- Failure points: 0% o2k Failure points: 0%
+2+
Mean=—" 2 iR =i == Meanp i=ir i—"- EBEERELA | TRrEE [ AT
2+ ok
L L . Tme->} | .y Time—>|
08:57:57.01 08:58:41.23 08:59:25.45 09:00:09.66 08:57:57.01 08:58:41.23 08:59:25.45 09:00:09.66
L2 (withoutobject) — — _ Mean: -2.33] ‘t2+(withoutobject) —— — — — — — — —Mean:—=0:79
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
2+ = Failure points: 0% +2+ = Failure points: 0%
Mean--—r--—r.—--u--——.v — — - — W) — — W Mean - mmiEm o v mE mmm o i S vess w e moam 0y - f e mim - -
-2r 2k
- T Times - —Time>]
09:01:36.09 09:01:47.22 09:01:58.36 09:02:09.49 09:02] 09:01:36.09 09:01:47.22 09:01:58.36 09:02:09.49
Database: ..\..\_QC_REPORTS\062508\B\062508AMB.gdb
Line Name: LO L1 L2 Page: 1




Static Calibration Test
Project: Fort Ord AM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
‘Lo(withoutobject) — — — — " “Mean: -0.047 | ‘L0 (without object)y “Mean: 0.071 |
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+7 = Failure points: 0% 27— Failure points: 0%
Mean Mean| -
2 2k
-y —_Time=>] N N N ———————————————eea
08:53:33.88 08:54:16.63 08:54:59.37 08:55:42.12 08:53:33.88 08:54:16.63 08:54:59.37 08:55:42.12
- Et-(withobjecty —— — — — — — — — —Mean:-99.99 Lt(withobjecty  — — — — — — — — — Meam 5311
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+ = Failure points: 0% +2F — Failure points: 0%
Mean — N — e sl m - v —— e Y w— . wm Mean ------ s s ® s
2+ -2r
Y S LLLL e — 1 — — — —— — —Hme->]
08:57:57.01 08:58:41.23 08:59:25.45 09:00:09.66 08:57:57.01 08:58:41.23 08:59:25.45 09:00:09.66
L2 (withoutobject)y ~ ~— ~— — — — ~Mean: 0.064 | ‘L2 (without object)  ~— ~Mean: 0.093]
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+7 = Failure points: 0% +2r7 - Failure points: 0%
Mean| mf — =i = s BT ad i a @ A > 1 Mean{ a Pl A g
2t 2k
N ————————————————aeeA, -y 4 __Time=>]
09:01:36.09 09:01:47.22 09:01:58.36 09:02:09.49 09:02] 09:01:36.09 09:01:47.22 09:01:58.36 09:02:09.49
Database: ..\..\_QC_REPORTS\062508\B\062508AMB.gdb
Line Name: LO L1 L2 Page: 2




St

atic Calibration Test

Project: Fort Ord

. Outside range

PM test
Operator: BG & TA

Line Name: L3 L4 L5

Equipment: EM-61 Mark I
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
L3 (without object) Mean: -2.55 - L3 (without object} — — — — — — — — —Mean: -0.52]
CcH4_ _ __ Acceptablerange: 2.5 | CH 2 Acceptable range: 2.5
- Failure points: 0% +2F Failure points: 0%
+2r+
Mean H B it i Mean RN T T 1 v
2F
__________________ -2r
1 1 1 Time-> - T T T T T T T Time
17:08:56.39 17:09:38.97 17:10:21.54 17:11:04.12 17:08:56.39 17:09:38.97 17:10:21.54 17:11:04.12
L4 (with object Mean: 207.25 L4 (withobject) _ Mean: 154.73 |
L CH(_1_ - j_ _) _______ Acceptable range: 2.5 CH 2 v Acceptable range: 2.5
- Failure points: 0% 92k - Failure points: 0%
+2r+
Meanr——/" = P = T 7 i Mean|— Uam T — - N P
2 ok
' ' | Time-> Ty Time
17:13:12.86 17:13:55.08 17:14:37.30 17:15:19.52 17:13:12.86 17:13:55.08 17:14:37.30 17:15:19.52
-L5(without objeet) — — — — — — — — —Mean:—-4.79 +L5(withoutobject) —————— — — —Mean:—=0:73
CH 1 Acceptable range: 2.5 CH 2 Acceptable range: 2.5
+2 Failure points: 0% +2+ Failure points: 0%
Mean e + o . —— | — —— . e—— . — —— Y —— . — — Mean | ¥ i — L —— . — AW 3 —— Y S— e A —— - — | — — "
2k -2r
e e T T —_————— —— ———— — — — —— — —Time->|
17:16:35.84 17:16:40.11 17:16:44.38 17:16:48.65 17:16:35.84 17:16:40.11 17:16:44.38 17:16:48.65
Database: ..\..\_QC_REPORTS\062508\B\062508PMB.gdb
Page: 1




Static Calibration Test
Project: Fort Ord PM test
Equipment: EM-61 Mark I . Outside range Operator: BG & TA
Grid/Location: QC Area — — Acceptable limits Date: 2008/06/25
L3(withoutobject)y — — — — — — — — Meanm—~0-1 L3 (withoutobjecty — — — — — — — Meanm—0-058"
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2+- - Failure points: 0% +2r+ - Failure points: 0%
Mean| L L 4 Mean|: - et 2 BB
2F 2
— 7 —— — — - —— —— Hime-> it s——— i ——— S ———hi.
17:08:56.39 17:09:38.97 17:10:21.54 17:11:04.12 17:08:56.39 17:09:38.97 17:10:21.54 17:11:04.12
L4 (with object) — —Mean-98.31 L4 (withobjecty — — Nean 52,027
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F - Failure points: 0%
Mean|—- 1 vy - 7 o= L Mean(= S e e -
2F -2r
-y —— p— —— ——Tifme-> —_— Yy — 4 — — — ——— — —time=>]
17:13:12.86 17:13:55.08 17:14:37.30 17:15:19.52 17:13:12.86 17:13:55.08 17:14:37.30 17:15:19.52
L5(without object) — — — — — — — “Mean: -0.074] L5 (without object)  — — — — — ~ Mean:-0.13
CH 3 Acceptable range: 2.5 CH 4 Acceptable range: 2.5
+2F - Failure points: 0% +2F7 - Failure points: 0%
Mean — ) — & ¥ — —————— W — — Y — Y WA W Y —— - Mean SV v ———a — YA Y W —— A — v — L . m A o —
2+ 2
—_— Y ——— — — — — —Time=>| -_——y ¢ —— —Time=>|
17:16:35.84 17:16:40.11 17:16:44.38 17:16:48.65 17:16:35.84 17:16:40.11 17:16:44.38 17:16:48.65
Database: ..\..\_QC_REPORTS\062508\B\062508PMB.gdb
Line Name: L3 L4 L5 Page: 2




